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Sl. No.1
QBID:1102001

Which of the following processes lead to the understanding of Abhava (lacking) in Nyayadarshana?

1. Word (Shabda)

2. Perception (Pratyaksha)
3. Inference (Anumana)
4. Analogy (Upmana)

1) 1

2) 2

(3) 3

4 4

TSR H 3419 & JH B TH I gidi g 2

1. Qs
2. Y&

3. 3AH
4. I
1) 1
(2) 2
3) 3
4) 4

1[Option ID=1]
2[Option ID=2]
3[Option ID=3]
4[Option ID=4]

Sl. No.2
QBID:1102002

In the statement “Atma is the substratum of knowledge™ which of the following is Pramata?

1. Jnana
2. Substratum
3. Atma
4. Akasha
1) 1
) 2
(3) 3
(4) 4

I BT 2ARIHI0T AT &' | T aTeR] & UHIT 37 g 2

1.9
3H{EHT
3T
3BT

w9

=

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=5]
2[Option ID=6]

3[Option ID=7]
4[Option ID=8]

Sl. No.3
QBID:1102003
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. Reality

W I =

. Doubt

=

1 1
(2) 2
3) 3
(4) 4

1. Ut
fawig
R3Ein
4. ddH
(1) 1

(2) 2

(3) 3

(4) 4

[PV

1[Option ID=9]

2[Option ID=10]
3[Option ID=11]
4[Option ID=12]

The definite perception of a rope as a serpent indicates

. Ignorance

. Argument

I H Y BT I orHa [bdDl <didd ¢ 2

102_Hindu Studies

Sl. No.4
QBID:1102004

Nyaya

. Bauddha
11
(2) 2
(3) 3
4) 4

=

2. Advaita Vedanta
3. Mimamsa

1. g

HH™
| =t
(1) 1

(2) 2

(3) 3

(4) 4

=

1[Option ID=13]
2[Option ID=14]
3[Option ID=15]
4[Option ID=16]

Rd:UTHTIATE [ <’iH & g ©

za@ﬁaa?d

The concept of Paratah-Pramanyavada is from which school of philosophy?

Sl. No.5
QBID:1102005

1) 1
2) 2
3) 3
(4) 4

localhost/ntareportsqp/qPprint.aspx

1. Desire for delicious food

2. Remembering God

3. Building temples

4. Discharging responsibilities of a grihastha

According to Samkhya Philosophy, which of the following causes Dakshinaka bondage?

2/105



2/22/23, 6:26 PM 102_Hindu Studies

TR R & AR Y H Y B &P G=[H B BRI G ?

1. 1P UISH Bl HTHAT
2. YAT-BR]

3. Sareg Ao

4. g & &I Bl (Adgul
1) 1

) 2

3) 3

(4) 4

1[Option ID=17]
2[Option ID=18]
3[Option ID=19]
4[Option ID=20]

Sl. No.6
QBID:1102006

Which state did Gautama Buddha finally attain?

1. Nirvana
2. Kaivalya
3. Apavarga
4. Moksha
1) 1

2 2

(3) 3

4 4

MdH g5 Sida: Y /awiT &l Ui gu 2

1. f(afor
A
3|
Al

[FS T

4.
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=21]
2[Option ID=22]

3[Option ID=23]
4[Option ID=24]

Sl. No.7
QBID:1102007

Pratityasamutpada is related to which of the following four noble truths?

1. Dukha exists

2. Cause of Dukha

3. Redressal of Dukha

. Methods for redressal of Dukha
1 1

(2) 2

3) 3

4) 4

IR il H Udaaqare foad a0

=

1.§9 6
2. G BT BRI
3. G I GHIY
4. 39 b GHIY & UM
(1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=25]
2[Option ID=26]
3[Option ID=27]
4[Option ID=28]

Sl. No.8
QBID:1102008

The attachment to the assumption of non-conscious as an absolute conscious element (Paramatattva) leads to
which bondage?

1. Prakritika
2. Dakshinaka
3. Vyavaharika
4, Tam ika

11

(2) 2

(3) 3

4) 4

"3 Se-Ueard dd- IRAdd § 1" U =l SR & HRUT [y YHR bl S 8l © 2

1[Option ID=29]
2[Option ID=30]
3[Option ID=31]
4[Option ID=32]

Sl. No.9
QBID:1102009

As per Shrimadbhagavadgita Shankarbhashya Upodghat, Sanak-Sanandana sages are associated with :

1. Pravrittimulaka Dharma
2. Nivrittimulaka Dharma
3. Both Pravrittimulaka and Nivrittimulaka Dharmas
4. None of the above
(1 1
) 2
(3) 3
(4) 4

eI AT —MERHTY JUlGHTd H GAD -6 B [ 4H § Tex 6 2

RIS SERUE]
Fiaftmee o

uqmamm U,HHQITIJj\md? gl
.39 H Y Bl Aol

".)«Ji‘-Jl-—t

EN

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=33]
2[Option ID=34]

3[Option ID=35]
4[Option ID=36]

Sl. No.10
QBID:1102010
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Putreshti yajna is which type of karma ?

. Nitya Karma

. Naimittika Karma

. Repentance

. Upasana (Worship)
1) 1

2) 2

(3) 3

(4) 4

AP I3 [ UHR BT HH g 2

1. Fasd
2. AffAfa® BH
3. Urigd
4. SUTHAT
1 1
(2) 2
(3) 3
4) 4

W I =

=

1[Option ID=37]
2[Option ID=38]
3[Option ID=39]
4[Option ID=40]

Sl. No.11
QBID:1102011

According to Shrimadbhagwadgava Shankarbhasya the term ‘Vikarma’ refers to :

1. Action prohibited by the shastras
2. Actions approved by the shastras
3. Actions not performed due to lethargy
4. None of the above
)1
(2) 2
(3) 3
(4) 4

JIHITagIdl AMGXHT & AR TabH Fdrad ¢ -

1. AN
2. RAFHIET HH
3. 3T & HRU] IS HH
4. IR | Y Pig 1 181
@ >
(3) 3
(4) 4

1[Option ID=41]
2[Option ID=42]
3[Option ID=43]
4[Option ID=44]
Sl. No.12
QBID:1102012

In which of the following texts does one find mention of “Swadharme nidhanam shrevah paradharmo
bhayavahah”

1. Manusmriti
2. Shrimadbhagavadgita
3. Yagyavalkya Smriti
4. Kathopanishad

)1

(2) 2

(3) 3

(4) 4
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e e 97 Ry yarde: U8 uigad foy 9= el -

1. 77l
2, %HIIEI aﬁlﬂl
3. gRided Wid
4. Dolufng
1)1
(2) 2
(3) 3
4) 4

1[Option ID=45]
2[Option ID=46]
3[Option ID=47]
4[Option ID=48]

Sl. No.13
QBID:1102013

According to Vedanta Darshana which of the following elements is absolute ?

1. Akasha
2. Maya
3. Sense organs
4. Atma
1) 1
2 2
(3) 3
4 4

daid aRM & TR 5 #  HF 91 dwd IRATS ¢ 2

1. PRI

RE

1) 1
) 2

(3) 3

(4) 4

1[Option ID=49]
2[Option ID=50]

3[Option ID=51]
4[Option ID=52]

Sl. No.14
QBID:1102014

In the first chapter of Brihadaranyakopanishad a pulse seed has been compared with

. Husband — Wife

. Brother — Sister
Father — Son

. Mother — Daughter
(1) 1

() 2

(3) 3

(4) 4

JEaRUIDIUMYG & YUH Sy H aId P e d fbud! gai o1 7l g 2

1. gfd-gdt

2. HIS-96+
3. fqar-gA

4. AL
(1) 1
(2) 2
3) 3
(4) 4

L R

=
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1[Option ID=53]
2[Option ID=54]
3[Option ID=55]
4[Option ID=56]

102_Hindu Studies

Sl. No.15
QBID:1102015

1. Akasha
2. Agni
3. Jala
4. Vayu
)1
) 2
3) 3
(4) 4

Ud D =

STDTR
3
ofd
ag

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=57]
2[Option ID=58]

3[Option ID=59]
4[Option ID=60]

Y D1 GHH fhg HgIyd U 3

With which of the following Mahabhutas is ‘Rasa’ associated?

Sl. No.16
QBID:1102016

Jaina

[ S

. Nyaya

]

1) 1
(2) 2
3) 3
4) 4

. Samkhya

. Advaita Vedanta

1.5
2. i
3.9

1 1
(2) 2
3) 3
(4) 4

SRIH TG [HY <= T Rl g 2

4. 3fgd daid

1[Option ID=61]
2[Option ID=62]
3[Option ID=63]
4[Option ID=64]

Asatkaryavada has been propounded in which school of philosophy ?

Sl. No.17
QBID:1102017

W I =

. Vritti
. Sutra

=

localhost/ntareportsqp/qPprint.aspx

. Bhashya
. Tippani

Which of the following is presented through least number of letters?
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(1) 1
) 2
3) 3
(4) 4

®H Y DHH 3&RI H fbyed! Uk [P g 2

1. HIY

[FE R

%%@

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=65]
2[Option ID=66]

3[Option ID=67]
4[Option ID=68]

Sl. No.18
QBID:1102018

‘Is it a person or a tree’; such knowledge falls in which of the following categories?

1. Doubt (Samshaya)
2. Ignorance (Viparyaya)
3. Argument (Tarka)
4. Real (Yathartha)
1) 1
2) 2
3) 3
(4) 4

g i & I1 9&f; Jg M [y Pife 7 31 g 2

1[Option ID=69]
2[Option ID=70]
3[Option ID=71]
4[Option ID=72]

Sl. No.19
QBID:1102019

While exploring truth if a person aims to win over the other side, such discourse is termed

1. Jalpa
2. Vitanda
3, Tarka

(4) 4

¢ TATANUT g Ueh U&T Widuel IR [aorg Wt T 9Tg, ol U [ty -

1. 5] gl SR
2. [dqUST BT S|
3. T el S|
4. 9I¢ gl ST |
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=73]
2[Option ID=74]

3[Option ID=75]
4[Option ID=76]

102_Hindu Studies

Sl. No.20
QBID:1102020

1. Shruti
2. Vakya
3. Vada

4, Sthana
11
) 2
3) 3
4 4

1. 4fd

2.dIHY
3. dlq
4. ¥4

1) 1

) 2

3) 3

(4) 4

1[Option ID=77]
2[Option ID=78]
3[Option ID=79]
4[Option ID=80]

The six-fold process is used to determine the real meaning of a text (arthanirdharana). Which of the following is
not used in such process?

dIqdoig gq wsfay ufchan &1 ST gidl g | 9 H Q DI Il fqen 33 ufshan # Iuge =81 gicli 82

Sl. No.21
QBID:1102021

o

. Hegemony
. Post-Truth
. Occidental

[V

. Oriental
1) 1
() 2
(3) 3
4) 4

=

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=81]
2[Option ID=82]

3[Option ID=83]
4[Option ID=84]

Which of the following concepts is related to the notion that there is no singular truth and there exist many truths

" TP ol U 3 &' | 3 (TR U HF Ul FufaRad sayrRon weid g2
1. WTETT (GoTAT)

2. WU (4Re-5Y)
3. T (ATRiTSea)
4. U= (3{TRUCH)

Sl. No.22
QBID:1102022
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Philology is the study of which of the following ?

1. Texts

2. Artists

3. Characters

. Biographers
1) 1

2) 2

(3) 3

(4) 4

YIRS Hgfefad # 9 fog &1 sremge g 0

RG]
 HADR] Bl
Ol Bl

4. SitatpRI &1
(1) 1
(2) 2
(3) 3
4) 4

=

W P =

1[Option ID=85]
2[Option ID=86]
3[Option ID=87]
4[Option ID=88]

Sl. No.23
QBID:1102023

Who is the foremost proponent of “Psycho-analysis™?

. Derrida

. Jefferson

. Erikson

. Sigmund Freud
11

) 2

(3) 3

4) 4

FANALAYOT & THRETH WidaTG® BI g 2

afar
SR

RURGE
4. s was
1) 1
(2) 2
(3) 3
(4) 4

W I =

=

[ I S

1[Option ID=89]
2[Option ID=90]
3[Option ID=91]
4[Option ID=92]

Sl. No.24
QBID:1102024

According to most contemporary feminists, what is "gender"?

1. A natural behaviour linked to someone’s sex.
2. One’s biological sex.
3. An identity one can choose at their will.
4. Societal conditioning that organises social, political and economic relations.
1) 1
(2) 2
(3) 3
(4) 4
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BT FHBTAM ARIAINCHl & IR SIS H g 2

1. fl & feiv1 O Y 49 HdeR |

2. Tt safa &1 9 fof |

3. U UgdH fordl dls Hfdd W Ia1 g |

4. IS THTG ST 2R IR IrErfos, Ie-fdd 3R fife ddy srafRud gia ¢ |

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=93]
2[Option ID=94]
3[Option ID=95]
4[Option ID=96]

Sl. No.25
QBID:1102025

‘What was the name of Bali’s Kingdom?

. Kishkindha
. Mithila

. Kosala

. Amravati
1 1

() 2

3) 3

(4) 4

STcl & T BT T A1H AT 2

1. fpiep=n
2. At
3. Hd
4. 3FRIGA!
1) 1

(2) 2

(3) 3

4) 4

W Y =

I

1[Option ID=97]
2[Option ID=98]
3[Option ID=99]
4[Option ID=100]

Sl. No.26
QBID:1102026

Sitaji's father was the king of

1. Ayodhya
2. Kosal
3. Mithila
4. Kaikaya desha
()1
) 2
(3) 3
(4) 4

iareil & fodr feg qr & ASm A 2

1. 3/gieAT
2. HId
3. fAfYar
4, FHY-T
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=101]
2[Option ID=102]
3[Option ID=103]
4[Option ID=104]

102_Hindu Studies

Sl. No.27
QBID:1102027

1. Guru Dronacharya
2. Guru Kripacharya
3. Bhishma Pitamaha
4. Karna

1) 1

2) 2

(3) 3

4 4

fARaUSt HIRa U&l & fhg AGIAR & TR &1 HRUT T 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=105]
2[Option ID=106]

3[Option ID=107]
4[Option ID=108]

Shikhandi was the instrument underlying the defeat of which valiant Kaurava warrior ?

Sl. No.28
QBID:1102028

The correct order of Parvas in the Mahabharata (from earlier

. Aadi, Shanti, Sabha, Vana
. Aadi, Sabha, Vana, Shanti
Sabha, Vana, Shanti, Aadi
Sabha, Aadi, Vana, Shanti

W D =

=

(1) 1
(2) 2
3) 3
(4) 4

AGTHRT & Udl &1 Ul v H DI T 5 (3N T 3id d&) 2

1. enfe, wnf=, g1, 99
2. 3fTfe, IHT, &, =
3. YT, &, 21i=T, 3M1fe
4. 9Y1, 3fe, a4, 2=

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=109]
2[Option ID=110]

3[Option ID=111]
4[Option ID=112]

to latter) is :

Sl. No.29
QBID:1102029

Who sacrificed his youth to Yayati?

. Yadu

. Pururava
. Puru

. Dushyant

W I =

=

localhost/ntareportsqp/qPprint.aspx
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(1) 1
) 2
3) 3
(4) 4

TIid I fabaT =it garaeur & of

1.9g
2. gl
.08
4.gMd

1 1

(2) 2

3) 3

(4) 4

1[Option ID=113]
2[Option ID=114]
3[Option ID=115]
4[Option ID=116]

Sl. No.30
QBID:1102030

Mahabharat was composed in which of the following sequences?

. Bharata, Jaya, Mahabharata
Jaya, Bharata, Mahabharata

. Jaya, Vijaya, Bharata

. Vijaya, Bharata, Mahabharata
1) 1

2) 2

3) 3

(4) 4

HEIHRT B AT I UgI HH D AT g 2

W I =

B

1. HIXd. olg, HelHRd

1[Option ID=117]
2[Option ID=118]
3[Option ID=119]
4[Option ID=120]

Sl. No.31
QBID:1102031

Which of the following numbers are declined in all the three genders ?

. one, two, five

. two, three, eight
. one, two, three

. one, two, ten

1) 1

(2) 2

(3) 3

4) 4

9 1 T fop deredl & & il [agl da1d § 2
1. U, <1, UTd
2. a1, dH, 3ié
3., Gl diF
4.Ud, ql.¢9

localhost/ntareportsqp/qPprint.aspx
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=121]
2[Option ID=122]

3[Option ID=123]
4[Option ID=124]

102_Hindu Studies

Sl. No.32
QBID:1102032

1. Dwigu
2. Dwandva
3

1) 1
2) 2
3) 3
(4) 4

I =

%%ﬁﬂ

=

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=125]
2[Option ID=126]

3[Option ID=127]
4[Option ID=128]

. Bahuvrihi
4. Karmadharaya

A H 1 9 @ TUH=dr gicl o |

is a compound where both of its constituents are significant.

Sl. No.33
QBID:1102033

W I =

B4

1)1
(2) 2
3) 3
(4) 4

[ I

S

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=129]
2[Option ID=130]

3[Option ID=131]
4[Option ID=132]

. Prathama Vibhakti Bahuvachana
. Dwitiya Vibhakti Bahuvachana

. Shashthi Vibhakti Bahuvachana
. Tritiya Vibhakti Ekavachana

el Ug fhg 994 AR fAuldd #1¥9 g 2

YA fayiad dgaaq
. Tedian fquiad aga=
9Nl faufd agaen

. o faHiRT Thae

The word ‘Nadyah’ is the form of which of the following vachana and vibhakti?

Sl. No.34
QBID:1102034

localhost/ntareportsqp/qPprint.aspx
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Which of the following is ‘Absolute indeclinable’ ?

. Abhitah

. Prayashah
. Alam

. Nischayena
1) 1

) 2

3) 3

(4) 4

Rrgfeifad ff @ 4 yoidrard sm & 2

1. 3fa:
CHUIIE:
3HdH

~

frem=

W [ =

=

'S I S

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=133]
2[Option ID=134]

3[Option ID=135]
4[Option ID=136]

Sl. No.35
QBID:1102035

‘Who among the following is considered as an avatar of Valmiki?

. Suradasa
. Tulsidasa
. Mirabai

. Kabir
11

(2) 2

(3) 3

4) 4

frgfatea & O f5Q aredife &1 e@arR A S g 2
1. qRe™

W I =

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=137]
2[Option ID=138]

3[Option ID=139]
4[Option ID=140]

Sl. No.36
QBID:1102036

What is the birth place of Guru Nanakadev?

1. Amritsar

2. Nanakana Sahib
3. Patna Sahib

. Kartarpur

1) 1

(2 2

(3) 3

() 4

I
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TS A ed dgl o 4 2

SHTHR
. DI gifgd
. Yo giigd

S S

=

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=141]
2[Option ID=142]

3[Option ID=143]
4[Option ID=144]

Sl. No.37
QBID:1102037

Which of the following was authored by Bhasa?

. Raghuvamsham

. Swapnavasavadattam

. Abhijnanashakuntalam
. Prithviraja raso

1

(2) 2

(3) 3

(4) 4

fFfaRad § I foaa! a1 4 3 &1 o 2

1. Tg4=H
2. WYArgdey
3. TR A
4. TR 1
1) 1
) 2
(3) 3
4) 4

W I =

B

1[Option ID=145]
2[Option ID=146]
3[Option ID=147]
4[Option ID=148]

Sl. No.38
QBID:1102038

In Bauddha Dharma ‘Nirvana’ denotes

1. State of peace
2. State of desire being extinguised
3. State of suffering being resolved
4. All of the above
(11
) 2
(3) 3
(4) 4
dlg YHER i EUREZGI
1. Q1f= BT Sfaed1 B

2. JT & QA I 3TRIT Dl
3. G D AU DI SGTIT DI
4. Iued Gl 1

o 2

3) 3
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(4) 4

1[Option ID=149]
2[Option ID=150]
3[Option ID=151]
4[Option ID=152]

Sl. No.39
QBID:1102039

The compound wherein primary of Anyapada is :

A. Tatpurusha

B. Karmadharaya

C. Bahuvrihi

D. Dwandva (Copulative Compound)
E. Dwigu

Choose the correct answer from the options given below :

. A only
. B only
. C only
. E only
11
2 2
3) 3
(4) 4

SUSYYT AN gIdl &

A. ddRy
B. THYRY

C. 9gdife

D. g%

E. fa1

A fou a0 Tashedl # & HEL 39X &1 98« HIfAT:

W Y =

=

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=153]
2[Option ID=154]

3[Option ID=155]
4[Option ID=156]

Sl. No.40
QBID:1102040
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The letters pronounced from larynx (kantha) are :

A ka (d)
B. ha (g)
C.1(3
D.a(3)
E. ya (4)

.A,B, Conly
.B,C.,Donly
.C,D, E only
.A.B.D only
(11
() 2
(3) 3
(4) 4

HUB U IART g ard 9ul g -

AP
B.§
.5
D. 3f
E.T

L O

B

A fou v Taskedl # & HEL 39X &1 99« HIfAT:

1.$pdd A, B, C
2. %ddB.C,D
3.%dd C, D, E
4. $dd A, B, D

1 1
(2) 2
(3) 3
4) 4
1[Option ID=157]
2[Option ID=158]

3[Option ID=159]
4[Option ID=160]

Choose the correct answer from the options given below :

102_Hindu Studies

Sl. No.41
QBID:1102041

Which of the following saints were devotees of Krishna?

A. Chaitanya Mahaprabhu
B. Suradasa

C. Mirabai

D. Narsi Mehta

1.LA,B,CandD
2. B, C only
3. A, Conly
4. C, D only

localhost/ntareportsqp/qPprint.aspx

Choose the correct answer from the options given below :
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[feiRaa Idl § I B Py yad U2

A. dd9 HgITY

B. §¥ald

C. ARETS

D. R4t Hgdl

Ar few arw fashedl # & HEL IR &1 944 il

1[Option ID=161]
2[Option ID=162]
3[Option ID=163]
4[Option ID=164]

Sl. No.42
QBID:1102042

Which of the following tribes reside in North-East Bharata?

A. Galo

B. Tagin

C. Adi

D. Miju Mishmi

Choose the correct answer from the options given below :

C and D only
.A,B,CandD
.B.C,Donly

.B, C only

1) 1

(2) 2

(3) 3

(4) 4

Ry Sl § 9 $19 3wR-gdl YRd § 99l § 2

A TTTEr

B. I

C. 3

D. Hig] et

A Rw arw Adedt & ¥ T8I 3t & 99 FilaT

1.%9d C 3R D
2.A.B,C3RD
3.%dd B, C,D
4. Hdd B, C

1) 1
(2) 2
3) 3
4) 4

L b =

B

1[Option ID=165]
2[Option ID=166]
3[Option ID=167]

4[Option ID=168]
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Sl. No.43
QBID:1102043

Which of the following is/are not type/s of Natya?

A. Bharati
B. Nataka
C. Prakarana
D. Natika

Choose the correct answer from the options given below :

1. Aand D only
2. Aonly
3. B and D only
4. A and C only
)1
() 2
(3) 3
(4) 4

FgfaRad J T ®F 91/ Acd FTUPR T6l 6/ 2

A, HRdl
B. Alc®h

C. Y[
D. e

@ BT v fawedl # O WAL I & 994 Hia:

1. $hdd A 3R D
2. Hdd A

3. HAdB3ARD
4. Pdd AR C
1) 1
) 2
(3) 3
(4) 4

1[Option ID=169]
2[Option ID=170]
3[Option ID=171]
4[Option ID=172]

Sl. No.44
QBID:1102044

Which of the following statements are true?

A. Valmiki was known as Ratnakara in his earlier days.

B. Valmiki had a complete transformation upon meeting Narada.

C. Sita gave birth to her sons at Valmiki’s Ashrama.

D. Valmiki was the guru of Lava and Kusha.

E. Lava and Kusha successfully stopped the horse of Rama’s Ashwamedha.

Choose the correct answer from the options given below :

1.A,C,D, E only
2.A,B.C,D,E
3.C,D, E only
4. B, C.D. E only
11
(2) 2
(3) 3
4) 4
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FAyifed Y HH Y DUT G 6 -

A. ATcHID BT RHD TTH IATHR AT |

B. TR HfA U e & IuRid drerifs Sit &1 Sita- gold: gRafdd g1 i
C. Hidroll = qreHifes BN & oty H 30 Gl 1 oA & |

D. aicHli A AR PAD TS U |

E. 99 3[R P -1 IH & HYHG T BT 3% UbS1 A |

e few v fawedl # & AL I & 994 Hiaw:

1.$%dd A, C,D.E
2. ®%dd A, B,C,D,E
3.%dd C, D, E
4.$dd B,C,D,E

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=173]
2[Option ID=174]
3[Option ID=175]
4[Option ID=176]

Sl. No.45
QBID:1102045

Which of the following statements are true about Yudhishthira?

A. His other name is Dharmaraja.

B. He was also known as Kaunteya.

C. Dronacharya confirmed about Ashwatthama’s death from Yudhisthira.

D. Dhritarashtra taught politics and public administration to Yudhishthira before leaving for the forest.

Choose the correct answer from the options given below :

.A.B. Conly
. A, Bonly
A, Conly
.A,C,Donly
)1

(2 2

(3) 3

(4) 4

R & aR & Freifhd § @ B @ po ad E

A. TR T 8R4 RIS ¢ |

B. 3% ®I<id Hl HEI Il § |

C. S0 A TSR ST &1 g B ATHYP 67 |

D. F-UR U Yd YeRTY = FRITER D1 Ao SR by 1 31 fear |

A few 91w fashedl # & HEL 3R &1 994 hifae:

1.$Pdd A, B, C
2. hdd A, B
3.BhAdd A, C
4.Hdd A, C.D

1 1
(2) 2
3) 3
(4) 4

S

1[Option ID=177]
2[Option ID=178]
3[Option ID=179]
4[Option ID=180]
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Sl. No.46
QBID:1102046

Which of the following statements are true?

A. After the Mahabharata war, Bhishma taught Rajadharma to Yudhishthira.
B. Dhrishtadyumna was Draupadi's brother.

C. Yadavas are Chandra-vanshi kshatriyas.

D. Karna is also known as Radheya.

E. Kaunteya is the other name of Arjuna.

Choose the correct answer from the options given below :

.A,C,D,E only
.A,B,C,D,E
.B,C,D, E only
.C, D, E only
1) 1

2) 2

3) 3

(4) 4

il A IS Y HYT el 6 2

A. HETHRA IuRid i = ISR &1 Ireied &1 g
B. Y¥eyy ZI9dl & Yl 3|

C. HETHRA & AJUUR Uled dgazil &5 ¢

D. Bl Bl AU Y BT Sl § |

E. 35} &I I AH DI<I ¢ |

A U 9w Tadedl § ¥ Tl 30K & 99 el

1.$dd A, C,D,E
2.A,B,C,D,E
3. ®ddB.C,D.E
4.%dd C,D.E

1 1
2 2
3) 3
4) 4

L S R

=

1[Option ID=181]
2[Option ID=182]
3[Option ID=183]
4[Option ID=184]

Sl. No.47
QBID:1102047
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Which of the following statements are true?
A. The notion of Lakshman-rekha does not appear in Valmiki Ramayana.
B. Shabari was checking whether berries were poisonous.
C. Ravana kept Sita in Ashoka Vatika.
D. Hanumana got Sanjivani herb to bring back Lakshmana to life.
E. Bali was sent to Ravana’s court as a messenger of Rama.

Choose the correct answer from the options given below :

ABCDE

A,.B,C,Donly

A, C,D only
.C,D, E only

1.
2.
3.

4.
11
2 2
(3 3
4 4

FEifed A A S Y HUT T8l o

A. AT T H A&HUN-Rd1 BT Ioeikd ol ol

B. Y Ug R ol Mis R ogda a8l & |

C. 1GUT - Il B 3= dlfcedl | 3 |

D. AT J&HUN & U1 dlie™ & fog Fsilail gt ol 311y |
E. STcll 1 YHGd & ™0 H AT B IATHHT H HSlT 74T |

A fer a1v Tashed! # @ HEL 30X &1 98« Hifa:

1.A,B,C,D,E
2. Hdd A, B.C.D
3. %dd A.C.D
4.5dd A, C,D,E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=185]
2[Option ID=186]

3[Option ID=187]
4[Option ID=188]

Sl. No.48
QBID:1102048
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Which of the following statements are true?

A. There are 24,000 slokas in Ramayana.

B. Karuna Rasa is the most prominent rasa in Ramayana.
C. Ruma was Sugriva’s wife.

D. Nala and Neela constructed the setu to reach Lanka.
E. Meghanada was the son of Ravana.

Choose the correct answer from the options given below :

.C,D, E only
.A,C, D, Eonly
A B.C.D,E
.B, C,D, E only

W I =

I

1 1
2) 2
3) 3
(4) 4

il A I PO HUT el 6

A. MUY 24,000 TP 6 |

B. MR H G901 7 &I U © |

C. SHI GUId BT gat of |

D. 7 3R =td A depT g9 & fere I o1 fAmtor fasan |
E. HYHIG 909 o7 |

A Ru arw Reedt & ¥ O8I 30K & 99 hifaT:

1.$dd C.D.E
2. $ddA. C.D.E
3. AB. C.D.E

4. $9dB.C.D.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=189]
2[Option ID=190]
3[Option ID=191]
4[Option ID=192]

Sl. No.49
QBID:1102049
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Philology involves which of the following :

A. Editing texts

B. Interpreting texts

C. Writing texts

D. Translating texts

E. Digitalisation of texts

Choose the correct answer from the options given below :

.Aand E only
.Bonly
.A.B.C.Donly
.Aand B only

L

.

(1) 1
2) 2
3) 3
(4) 4

YIYRIE § FEed A 9 $H MAd 6

A. | &1 Yured

B. Ui &1 Uy

C. Ui &l @

D. U4l &1 efdlq

E. U4l &1 fSfSTeciaiu

A fou v Tasked! # & HEL 39X &1 98« HIfAT:

1. Hdd ASIRE
2. $dd B
3.bdd A, B,C,D
4. Hdd A SR B

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=193]
2[Option ID=194]

3[Option ID=195]
4[Option ID=196]

102_Hindu Studies

Sl. No.50
QBID:1102050
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The concepts of 'Superstructure', ‘Base’, and ‘Infrastructure’ are used in

A. Orientalism

B. Marxism

C. Structuralism
D. Philology

E. Psychoanalysis

Choose the correct answer from the options given below :

1. AB.C.,Dand E
2. Aonly
3. Bonly
4. B and C only
1) 1
) 2
3) 3
(4) 4

'SHTERET, 3R 3R SMURYT YRaT Uel & wanT fgfafad & fbar mn g -

A U= dlq

B. HIGHdIG

C. §RAAAIg

D. HINIRAEA (Philology)
E. H--[qeaiyor

A Ru arw Reedt & ¥ O8I 30K & 99 hifaT:

1.A,B.C.D3RE
2. Hhad A

3. %dd B

4. HIAB 3R C

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=197]
2[Option ID=198]

3[Option ID=199]
4[Option ID=200]

Sl. No.51
QBID:1102051

‘Western Critical theories

A. Are twentieth century methods used to analyse texts.
B. Are applicable to Western texts only.

D. Are influenced by Marxism thought and related thoughts.
E. Developed in Bharata.

Choose the correct answer from the options given below :

1. E only
2. B and E only
3. A, Cand D only
4. A,B. Cand D only
(11
() 2
(3) 3
(@) 4

localhost/ntareportsqp/qPprint.aspx

C. Are products of the views of Western philosophers, social thinkers and social scientists.
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YT ATAATHS gid |

A. T & TaRelvur g Syl et 1 widfeai g |

B. $ad Y1 Yl & fae syarsa ¢ |

C. UIYT SI=i-ebi. reTfsren fFidebl 3R drHffsie d1ei & Hdi 61 U ¢ |
D. YH@Ed: HIFHdIG 3R 394 Ydg [daRi  guIfda g |

E. HRA H [deffa ¢ |

A fow 977 fasdedt & ¥ Hadl 39YFd IA T TG DT

1. hdd E

2. FIAB IR E

3. F9A A, C3ARD
4. HdA A, B.C 3RD

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=201]
2[Option ID=202]
3[Option ID=203]
4[Option ID=204]

Sl. No.52
QBID:1102052

Which of the following is required in Shravana Vidhi?

A. Apurvata (Unprecedence)

B. Abhayasa (Practice)

C. Phala (Outcome)

D. Prakarana (Episode)

E. Arthavada (Praise or Criticism)

Choose the most appropriate answer from the options given below :

.A.B,C,Donly
.B,C,D, E only
.A,C,D,E only
.A,B, C,E only
1) 1
2) 2
(3) 3
4) 4

yquifafey 7 oar-aar 3uféa g 2
A. 3{daT

B. ¥
C.Td
D. Yp U]

E. 3rfarg

e Gw v fawedt # & AL 3T & 99d hiaw:

1.$dd A, B.C.D
2. $dd B,C.D.E
3.%dd A.C.D.E
4. 9dd A, B, C,E

1) 1
(2) 2
3) 3
(4) 4

W D =

I

localhost/ntareportsqp/qPprint.aspx
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1[Option ID=205]
2[Option ID=206]
3[Option ID=207]
4[Option ID=208]

102_Hindu Studies

Sl. No.53
QBID:1102053

Which of the following are features of Vartika ?

A. Analysis of expressed

B. Explanation of unexpressed

C. Aparartha vidhana

D. Analysis of wrongly expressed statement
E. Tika

Choose the most appropriate answer from the options given below :

.A,B, Conly
.A,C,Donly
.A.D,E only
.A,B.D only
11
(2) 2
3) 3
(4) 4

frafera # 9 a1 & qam g -

A. 3% I HirEr
B. 3 D1 HRSAT
C. WRUifyeE

D. GO DI HYT
E. dlopl

A fou v Taskedl # & HEL 39X &1 99« HIfAT:

1.$dd A, B, C
2. %dd A.C.D
3. HAdA A, D, E
4. $dd A, B, D

1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=209]
2[Option ID=210]
3[Option ID=211]
4[Option ID=212]

Sl. No.54
QBID:1102054

Which of the following are features of a Sutra ?
Alpakshara

Swapadagrahana

Asandigdha

Description of Sutrartha

Viswatomukha

o 0wy

™

1. A.B. Conly
2.B,C,D only
3.C.D.E only
4.A,C.E only
)1
(2 2
(3) 3

localhost/ntareportsqp/qPprint.aspx

hoose the most appropriate answer from the options given below :
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(4) 4

fFfaRad o 3 &F g & a4 g 2

A, 3fHI&R

B. WUYUGUI
C. 3Ty
D. G214 &1 qui

E. faydga

A Rw aw fawed! F § Ha¥ ITEd IR @1 w9 Hifere:

1.Pdd A, B, C
2.%dd B, C,D
3.%dd C, D, E
4. FdA A, C,E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=213]
2[Option ID=214]

3[Option ID=215]
4[Option ID=216]

Sl. No.55
QBID:1102055

Shadvidhsannikarsh includes

A. Sigmate inherence (Samyukta Samvaya)

B. Inherent inherence (Samveta Samvaya)

C. Sigmate sigmate (Samyukta Samyukta)

D. Asigmate inherence (Asamyukta Samavaya)

E. Sigmate inherent inherence (Samyukta Samveta Samvaya)

Choose the most appropriate answer from the options given below :

.A,B.E only
.A,B.Conly
.B,C.Donly
.C, D, E only
1) 1
2 2
(3) 3
4 a

yelquyia®y o e g |

W I =

=

D. SHgaIIHaY
E. YgadgAdadgHdry

A feu a0 fawhed! & @ HAL 30X &1 94« it

1.$dd A, B.E
2. hdd A, B, C
3. %dd B, C,D
4. %dd C, D, E

(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=217]
2[Option ID=218]
3[Option ID=219]
4[Option ID=220]

Sl. No.56
QBID:1102056

In the context of Paratah Pramanyavada the authenticity of the knowledge of a pot (ghatajnana) is validated by :
A. the use of pot

B. the person

C. the eyes

D. the manas

Choose the correct answer from the options given below :

1. B only
2. A only
3. C only
4. D only

)1

(2) 2

(3) 3

(4) 4

gog[ D1 YOS A RA:AHIUTdIE & Y9y H HY R gldl 6 -

A HCH YUY |
B. AfGd I |
C.I&9 |
D.FHY |

A fou av fowed! & & HEL IR #1994 hifaid:

1. bdd B
2. had A
3. %hdd C
4.HddAD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=221]
2[Option ID=222]

3[Option ID=223]
4[Option ID=224]

Sl. No.57
QBID:1102057

As per Shrimadbhavadgita which of the following is not regarded as superior to sense organs?

A. Sthula Sharira
B. Buddhi

C. Atma

D. Mana

Choose the correct answer from the options given below :

1. A only
2. B only
3. C only
4. D only

)1

2 2

(3) 3

(4) 4
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figragiar & sf=al 9 9% fHus! Tal A1 T 6 2

A ®ARR

B. §f<

C. ATHI

D. H4

A fow e fawedl & & Ha¥ 3U¥Fd ITR HI 9 Sl

1. hdd A
2. %dd B
3. Hdd C
4.Hdd D

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=225]
2[Option ID=226]

3[Option ID=227]
4[Option ID=228]

Sl. No.58
QBID:1102058

Which of the following are types of bondages as per Samkhya darshana?

A Prakritika
B. Vaikritika
C. Laukika

D. Dakshinaka
E. Alaukika

Choose the correct answer from the options given below :

1. A B, Conly
2.A,C,E only
3.A,B.D only
4. A.D. E only

1) 1

(2 2

(3) 3

(4) 4

TR & 3HR G4 D YHR g

P ICaGED
B. did®
C. difhd
D. CIf&ureh
E. 3clfdhd

A BT aw Opedl § ¥ Ha9 ITEd IR H 99 P

1.$dd A, B, C
2. ®hdd A, C.E
3. ®%dd A.B. D
4. %dd A, D.E

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=229]
2[Option ID=230]
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3[Option ID=231]
4[Option ID=232]

102_Hindu Studies

Sl. No.59
QBID:1102059

A. Shruti

B. Smriti

C. Constitution

D. Contentment (Atmatushti)

E. Sarvadharmasamabhava

Choose the correct answer from the options given below :

1. A.B. Conly
2.B,C.D only
3.A, B.Eonly
4.A,B.D only
)1
(2 2
(3) 3
(4) 4

A Gw v fGwedl # & AL I & 994 hIa:

1.$bdd A, B, C
2. ®dd B, C,D
3. hdd A, B.E
4.9dd A, B, D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=233]
2[Option ID=234]

3[Option ID=235]
4[Option ID=236]

HIEHId & AR Y & [qwy § =g HHI0 HFT TR G -

According to Manusmriti which of the following are regarded as Pramana with respect to Dharma?

Sl. No.60
QBID:1102060

A.  Acharavyavastha

B. Vyavhara Nirnaya (Deciding behaviour)

C. Kalavimarsha (Discourse on Time)

D. Prayashchittavidhana (Prescribition atonement)

E. Prakriti Vimarsha (Discourse on Nature)

Choose the correct answer from the options given below :

1. A, B, Conly
2.B,C,D only
3.C,D,E only
4. A.B.D only
1) 1
(2) 2
(3) 3
4) 4

localhost/ntareportsqp/qPprint.aspx

Which are the three impontant subjects of Dharmashastra ?
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YRR & JAq: diF Ay dHE Y g2

A. STEARTTT
B. SHdgRAfg
C. HIAGART

D. Urdigfae

E. Wablcfaa=

A Rw aw fawed! F § Ha¥ ITed I #1949 Hifere:

1.$bdd A, B.C
2.%dd B, C,D
3.%dd C, D, E
4. HddA.B.D

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=237]
2[Option ID=238]
3[Option ID=239]
4[Option ID=240]

Sl. No.61
QBID:1102061

Jivanmukta yogi is one who

A has attained mukti, and who is not attached to karma even while performing actions.
B. remains attached to the fruits of karma.

C. does not have attachment to the fruits of karma.

D. is free from the bondage of birth and death.

E. continues to work according to his Destiny (Prarabdha).

Choose the correct answer from the options given below :

.A,B.C,Donly
.A,B.D, Eonly
.A,C,D,E only
.A,B,C,E only
1) 1
2) 2
3) 3
4) 4

ST il |

A. HaRITaRT D] YTt & HH DRl g3 Hi HH el Bl |
B. HHHA H I I8 ¢ |
C. PHRA H 3UP| I ol il |

D. S H-J & g+ YA gl o |
E. YR & TR HH HIAI Gl 6 |

W I =

N

e Gw v fawedt # O AL I & 994 hiaw

1.$dd A, B.C.D
2. %dd A, B, D, E
3. %dd A, C.D.E
4.$dd A, B, C,E

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=241]
2[Option ID=242]
3[Option ID=243]
4[Option ID=244]

Sl. No.62
QBID:1102062

‘Who are associated with Varanasi ?

A. Kabir

B. Tukarama

C. Tulsidasa

D. Ravidasa

E. Gyaneshwara

Choose the correct answer from the options given below :

.A, B, Conly
.B,C,Donly
. A, C,D only
.A,D.Eonly
11
(2) 2
3) 3
(4) 4

IRV ¥ TERd P E 2

A PR

B. JPRM
C. gordier™
D. 3fdary
E. IR

A fou v Taskedl # & HEL 39X &1 99« HIfAT:

1.$dd A, B, C
2. %ddB.C,D
3. %dd A, C,D
4. $dd A, D.E

1) 1
(2) 2
(3) 3
(4) 4

W =

=

1[Option ID=245]
2[Option ID=246]
3[Option ID=247]
4[Option ID=248]

Sl. No.63
QBID:1102063

Identify the correct sequence of categories as enunciated in Vaisheshika Darshana.

A. Karma
B. Guna

C. Dravya
D. Vishesha
E. Samanya

Choose the correct answer from the options given below :

1.C;
2. B,
3

= it
>0

(1)1
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(2) 2
(3) 3
(4) 4

9P < T Uil &1 U8l FA D A § 2

A TH

B. 10T
C. %A
D. faQy

E. 9{MHY
drt few arv faded] # & GAL 3T T 904 hifaT:

1.$dd C,B.A.E.D
2. $4dB,C.A.E.D
3. %4 C,B.E.A.D
4. %dd A, B,C,D.E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=249]
2[Option ID=250]

3[Option ID=251]
4[Option ID=252]

Sl. No.64
QBID:1102064

Match List I with List IT

LISTI LIST II
A [Kalpa I. |Feet of Vedapurusha
B. [Shiksha II. [Eves of Vedapurusha
C. Pyoticha I11. [Hands of Vedapurushal
D. |Chhanda IV. [Nose of Vedapurusha |

Choose the correct answer from the options given below:

. A-I, B-IL. C-III. D-IV
CA-TV, B-IIIL, C-I1, D-1
AL B-TIV, C-I1, D-1
. A-IV, B-111, C-I, D-1I
(1) 1
2 2
3) 3
(4) 4

Gl 11 el 11 Y Fe i

T 1 T 11
e L [deURy & UG
3 II. [d5U2y & 7
EelliE] 1L [d30%Y & 8

R IV. [deUsY &1 "]
i U U fam el | 9§ Yol 3R &1 994 Bl :

.A-L B-II, C-III, D-IV
CA-TV, B-II0L, C-I1L, D-1
. A-IIL B-IV, C-I1. D-I
.A-TV, B-II1, C-I, D-II
1) 1
2) 2
3) 3
4) 4

W I =

I

CIEEIE

b b =

=
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1[Option ID=253]
2[Option ID=254]
3[Option ID=255]
4[Option ID=256]

102_Hindu Studies

Sl. No.65
QBID:1102065

Match List I with List IT

LISTI LISTII
A [Valmiki I. |Son of a weaver
B. |[Vvasa II. |Son of a hunter
C. [Kabir I1T. |Son of a maid servant
D. [Vidura IV. |Son of a fisherwomen|

Choose the correct answer from the options given below:

1. A-IL, B-1IV, C-1. D-III
2. A-I, B-IIL, C-IV, D-II
3. A-IIL, B-L, C-IL, D-IV
4. A-I, B-IL, C-1II, D-IV
)1
2 2
3) 3
(4) 4
Gl 1 Try Yt 11 DT e Difo :
T 1 = 1T
A [arcHl i 1 [SeergE
B. [ IL. [oTeg
C. [pdlR 111 [grfiga
D. [lgex IV. [ RA UF

i fU U fdh el § 9 Ul 3R &1 994 HIfoU ;

.A-IL B-1IV, C-1, D-II1
.A-1, B-III, C-IV, D-II
. A-III, B-I1, C-I1, D-IV
.A-1, B-II, C-III, D-IV
1) 1
(2) 2
(3) 3
4) 4

W b =

.

1[Option ID=257]
2[Option ID=258]
3[Option ID=259]
4[Option ID=260]

Sl. No.66
QBID:1102066

Match List I with List IT

LIST I LISTII
A |Thai I. [Knttivas Ramayanal
B. [Bengali II. [Ramakein
C. |Tamil [IT. [Kamba Ramayana
D. [Urdu IV. |Chakbasta

1. A-IV, B-III, C-II, D-1
2. A-II, B-1. C-III, D-IV
3. A-1, B-II, C-II1, D-IV
. A-II, B-III, C-IV, D-1
1) 1
(2) 2
(3) 3
4) 4

B

localhost/ntareportsqp/qPprint.aspx

Choose the correct answer from the options given below:
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Gl 1 TrY Yl 11 DT (e Difo :

il oo |
A [ L. [idarg IEau|
B. [T II. RMHIfBTH
C. [dird I11. [+ THE
D [3% IV [ddaw

i fau U fad el & 9 gl 3R &1 999 HIfoe ;

CA-TV, B-111L, C-II, D-1
.A-ILL B-1, C-1I1, D-IV
.A-1, B-1I, C-III, D-1IV
. A-II, B-III, C-1V, D-1
1) 1
2) 2
(3) 3
4) 4

W b =

.

1[Option ID=261]
2[Option ID=262]
3[Option ID=263]
4[Option ID=264]

Sl. No.67
QBID:1102067

Match List I with List IT

LISTI LIST II
A |Rashtraraksha (Protecting the nation)] I. |Samaja Dharma (Duty towards the society
B. |Swadhyava (Self study) II. Rajadharma {Duty towards the State)
C. |Seva (Service) I11. |Apaddharma (Duty in adversity)
D. [Mansabhakshana (Meat eating) IV. |Svadharma (Duty towards oneself)

Choose the correct answer from the options given below:

. A-IV, B-1L, C-1, D-III
. A-II, B-1IV, C-1I1. D-1
. A-1, B-II, C-III. D-IV
.A-IIL B-1V, C-1, D-1II
1) 1
(2) 2
(3) 3
4) 4

Gl 1 919 T 11 BT e Hifoy :

T 1 T 11
RERG 1. [eHTerE
e 1. Rried
BEIl 111 |mog s
[Figuem V. [aed

4 faU 70 fahegl © 9 T8l IR D1 999 HIf ;

CA-IV, B-11, C-1, D-IIT
. A-IIL B-1IV, C-II1. D-1
.A-I B-II, C-II1, D-1IV
. A-II, B-1V, C-1, D-III
(1) 1
2 2
3) 3
(4) 4

L S

B

I EIE

[T O

I

1[Option ID=265]
2[Option ID=266]
3[Option ID=267]
4[Option ID=268]

Sl. No.68
QBID:1102068
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Match List I with List IT

LISTI LISTII
A [Nirvana I. |Samkhya Yoga
B. Moksha II. Nyaya
C. [Kaivalyva I11. |[Bauddha
D. [Nihshrevasa IV [Vedanta

Choose the correct answer from the options given below:

. A-IILL B-1V, C-11, D-1
CA-TV, B-1I, C-I, D-1I
. A-IIL B-1IV, C-1, D-11

W I =

4. A-II, B-1, C-1II, D-IV
1) 1
(2) 2
(3) 3
4) 4
Gl 1 91 T 11 BT e Sifoy :
T 1 = 11
A_[FEio 1. [greme
B. [Alef 1. [=mg
C_[baa I [Bg
D. [F:909 V. [derd

i fau U fah el © 9 T8l 3R &1 999 HIfoe ;

. A-IIL B-IV, C-II. D-I
CA-TV, B-II0L, C-1L, D-T1
. A-IILL B-1V, C-1. D-I
. A-Il, B-1, C-III. D-IV
1) 1
(2) 2
3) 3
(4) 4

(ST O

.

1[Option ID=269]
2[Option ID=270]
3[Option ID=271]
4[Option ID=272]

Sl. No.69
QBID:1102069

Match List I with List IT

LIST I LIST II
A, |['Ram knows." Here Ramis | . [Process (Pramana)
B. |Anuplabdhi II. [Knowledge Prama)
C. |Aakasha I1T. [Knower (Pramata)
D. |Agnijnana IV. |Object (Prameya)

Choose the correct answer from the options given below:

. A-IIL B-1, C-IV, D-II
CA-IL B-TIV, C-I1L. D-1
.A-I B-IV, C-II, D-III
.A-IL B-1, C-1V, D-II1
(1) 1
2) 2
3) 3
(4) 4

W I =

I
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Gl 1 TrY Yl 11 DT (e Difo :

Gl &
A |lTESEag T ad gl L [oEm
B. [srumie I [
C. |3{TPI II1. [UHTET
D. [sfg= V. [uHg
i fau U fad el & 9 gl 3R &1 999 HIfoe ;

1. A-IIT, B-1, C-1IV, D-1I
2. A-III, B-1V, C-I1. D-I
3. A-L, B-IV, C-II, D-III
4. A-I1, B-1, C-1V, D-IIT

1) 1

) 2

(3) 3

(4) 4

1[Option ID=273]

2[Option ID=274]

3[Option ID=275]
4[Option ID=276]

102_Hindu Studies

Sl. No.70
QBID:1102070

Match List I with List IT

LISTI LIST II
A |Shankaracharva I |Tikakara
B. [Vachaspati Mishra| IT. |Sutrakara
C. |JAnnambhatt I11. [Bhashyvakara
D. [Panini IV. |Sangrahakara

. A-I, B-III, C-IV, D-II
.A-II, B-1, C-IV, D-1I
. A-IIL B-1V, C-I1, D-1
. A-IIL, B-1, C-II. D-IV
1) 1
(2) 2
(3) 3
4) 4

Gl 1 919 T 11 BT e Hifoy :

T 1 T 11
RIgRE L IR
e Ay [ L [EeR

STHYE 111 [({TSIBR
GG IV [GUe®R

i fU U fadhedi § 9 Hol 3R &1 99+ BT ;

.A-I B-III, C-IV, D-II
CA-IL B-1, C-IV, D-TI
. A-IIL, B-1V, C-II. D-1
. A-IIL B-1, C-I1, D-IV
(1) 1
2 2
3) 3
(4) 4

L O

B

SIS EIE

[T O

I

1[Option ID=277]
2[Option ID=278]
3[Option ID=279]
4[Option ID=280]

Choose the correct answer from the options given below:

Sl. No.71
QBID:1102071

localhost/ntareportsqp/qPprint.aspx
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Match List I with List IT

LISTI LISTII
A [Ferdinand de Saussure] [ |Orientalism
B. |Antonio Gramsci II. |Structuralism
C. Pacques Derrida II1. [Hegemony
D. [Edward Said IV |Post-structuralism]

W I =

B

Choose the correct answer from the options given below:

. A-IL B-III, C-IV, D-1
.A-L, B-II, C-III, D-IV
. A-IV, B-1II, C-II, D-1
.A-IILL B-IL, C-1, D-IV

1) 1
(2) 2
3) 3
4) 4

Gl 1 91 T 11 BT e Sifoy :

T

=11

GEEEEERT

UT=ddig

_ [eeitaa el

. [FETEE

. [

IIL [HT8T4

ofo]=[>

EEEREE

IV, [3TR-E=H1dIg)

i fau U fah el © 9 T8l 3R &1 999 HIfoe ;

. A-II, B-III, C-IV, D-1
. A-I, B-II, C-1IL, D-IV
. A-IV, B-1II, C-11. D-1
. A-IILL B-IIL, C-1. D-IV

(ST O

B

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=281]
2[Option ID=282]

3[Option ID=283]
4[Option ID=284]

102_Hindu Studies

Sl. No.72
QBID:1102072

Match List I with List IT

LISTI LISTII
A [Krishna I. |Vishwamitra
B. |Arjuna II. |Sandipani
C. |Bhishma 1T [Drona
D. [Rama IV. |Parashurama

Choose the correct answer from the options given below:

W I =

I

1) 1
(2) 2
3) 3
(4) 4

.A-IL B-III, G-IV, D-1
.A-I B-IL. C-III. D-IV
. A-IIL B-1V, C-11. D-1
. A-IIL B-1, C-1V, D-IIT

localhost/ntareportsqp/qPprint.aspx
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Gl 1 TrY Yl 11 DT (e Difo :

T 1 = 1T
A fow il CEIEE]
B |3/ I [HaigiH
C. [deg 111 [giom
D. RH V. [0z
i< feu T fgsb el & O 9t Ik &1 994 IS :

1. A-I1, B-III, C-IV, D-1
2. A-L, B-II. C-1III. D-1IV
3. A-III, B-1V, C-I1, D-I
4. A-I1, B-1, C-1V, D-IIT

1) 1

2) 2

(3) 3

(4) 4

1[Option ID=285]

2[Option ID=286]

3[Option ID=287]
4[Option ID=288]

102_Hindu Studies

Sl. No.73
QBID:1102073

Match List I with List IT

LIST I LISTII
A |Yada I. [Dishavachi Avyaya
B. [Paritah II. |Sadnishvavachi Avyayal
C. JAtvantam 1T |Samayavachi Avvava
D. [Iva IV. [Poornatavachi Avyava

. A-IIL B-1, C-II. D-IV
. A-I, B-III, C-IV, D-1I
. A-II, B-III, C-1. D-IV
CA-IL B-1L C-IV, D-TI
1) 1
(2) 2
(3) 3
4) 4

Gl 1 919 T 11 BT e Hifoy :

T 1 Tt 11
REld 1. [E=mardt sre
afea: 1. [Ore=aare! o]
g 111 [q99aT 3e0g

Gl IV, [quidrardl $feag
i< feu U fashedl # 9 gt 3R 1 98- BT ;

. A-IIL, B-1. C-II. D-IV
.A-I B-III C-IV, D-II
CA-IL B-ITIL, C-1, D-IV
. A-IIL B-1, C-IV, D-1I
(1) 1
2 2
3) 3
(4) 4

L O

B

I EIE

[T O

I

1[Option ID=289]
2[Option ID=290]
3[Option ID=291]
4[Option ID=292]

Choose the correct answer from the options given below:

Sl. No.74
QBID:1102074
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Match List I with List IT

LISTI LISTII
. Mallikarjuna I. |Sti Shailam
. [Nageshwara II. [Ujjain
. [Rameshwara | IIL [Daruka Vana
. PMahakala IV, [Tamilnadu

w] Fo] -1 h=

Choose the correct answer from the options given below:

. A-1, B-IL, C-III, D-IV
. A-I, B-III, C-IV, D-1I
. A-TV, B-II1, C-II, D-1
. A-II, B-III, C-IV, D-1
(1) 1
2) 2
3) 3
4) 4

Gl 1 91 T 11 BT e Sifoy :

T 1 T 11
nicido | L JEiey
[ I [3wH
RTHAT 111 [GReahldH

[EThId . [afterg
19 f3U T fadhedl H 9 Hel IR 1 =90 B

.A-I, B-1I, C-III, D-IV
.A-I B-III C-IV, D-TI
CA-TV, B-II1L, C-I1. D-1
AL B-IIIL, C-IV, D-1
1 1
(2) 2
3) 3
(4) 4

W I =

B

CIEEIES

o S R

B

1[Option ID=293]
2[Option ID=294]
3[Option ID=295]
4[Option ID=296]

Sl. No.75
QBID:1102075

Arrange the following Suryavanshi kings chronologically (beginning to end)

A. Dilipa

B. Raghu

C. Aja

D. Dasharatha
E. Bharata

Choose the correct answer from the options given below :

1.A,B,C,.D,E
2.E.D.C,B, A
3.C,B.A.E.D
4 A,C,D,B,E
1 1
(2) 2
3) 3
4) 4

localhost/ntareportsqp/qPprint.aspx
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A. fadlyg
B. %Y
C. 3
D. q¥RY
E. YRd

1.A,B, C,
2. E. B, ¢,
3.6 BaA;
4. A C.D,

1) 1

(2) 2

3) 3

4) 4

1[Option ID=297]
2[Option ID=298]
3[Option ID=299]
4[Option ID=300]

e few v fawedl # & AL I & 994 Hiaw:

wmw g
g m

102_Hindu Studies

ot gHid=i IreTell Bl HIABHTIR Hafyd HIforg (311G U 3id do)

Sl. No.76
QBID:1102076

B. Kama

C. Krodha
D. Prasada
E. Santushti

A. Aasakti (Sanga)

Choose the correct answer from the options given below :

1. A, B, D only
2. A,B. Conly
3.A.B.Eonly
4. A.D, E only

(1) 1
(2) 2
3) 3
(4) 4

B. &H
C. Iy
D. YIS

E. ¥

@ BT v et § & AL I F 994 i

1.$dd A, B, D
2. HAdd A, B, C
3. $dd A, B.E
4. Pdd A, D.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=301]

localhost/ntareportsqp/qPprint.aspx

As per the second chapter of Shrimadbhagavadgita, focusing on vishaya yields which of the following?

SAEITaR I o (G ST & AR (a1 &= B o H H A DT SAATIA § 2
A IS (Fg)
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2[Option ID=302]
3[Option ID=303]
4[Option ID=304]

102_Hindu Studies

Sl. No.77
QBID:1102077

Arrange the following chronologically.

A. Mahabharata

B. Colonialism

C. Psycho-analysis
D. Structuralism

E. Post-structuralism

Choose the correct answer from the options given below :

A R arw RBeedt & ¥ 981 3t & 99 hifaT

1A B CIDE
2 E.D.C.B.A
3.A.D.E,C,B
4 A CED,B
1) 1
2) 2
3) 3
(4) 4

1[Option ID=305]
2[Option ID=306]
3[Option ID=307]
4[Option ID=308]

Sl. No.78
QBID:1102078

Arrange the following Kandas of the Ramayana in the proper sequence (from earlier to later).

A. Ayodhya Kanda
B. Yuddha Kanda
C. Uttara Kanda
D. Aranya Kanda

Choose the correct answer from the options given below :

1.A.B,C,D
2.A,.C,B,D
3.A.C,D.B
4.A.D. B.C

1 1

2) 2

3) 3

4) 4

localhost/ntareportsqp/qPprint.aspx
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T & FHffad HUs! &F 3R I 3 dd HHES BN |

A. IHHIUS
B. JGPIUS

C. JRBIUS
D. 3RUTHIUS

Al few arw fashedl # & HAL I & 944 il

~AB,C,.D
A,C.B.D
D.B
B.C

[ S

A C
A, D,

>

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=309]
2[Option ID=310]

3[Option ID=311]
4[Option ID=312]

Sl. No.79
QBID:1102079

Ravana, the King of Lanka was

A. son of Vishrava
B. son of Kaikasi

C. Kuber’s brother
D. son of Pulastya

Choose the correct answer from the options given below :

1.A,Band C
2.B.CandD
3. C and D only
4. None of the above
11
2 2
(3) 3
4) 4

REARIGRIELI |

A fayargza
B. T
C. PR B HIg
D. JeRG-TA

#r T arw Rdedt & ¥ 98I 3t & 99 FiaT:

_A.B3RC

B.C 3RD

. $Hdd C 3R D
B H § I3 el
11

) 2

3) 3

4) 4

LV T OO T

i,

1[Option ID=313]
2[Option ID=314]
3[Option ID=315]
4[Option ID=316]

Sl. No.80
QBID:1102080
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Arrange the following Kuru dynasty kings chronologically. (From beginning to end)

A. Shantanu

B. Bhishma

C. Dhritarashtra
D. Duryodhana

Choose the correct answer from the options given below :

1.D.C.B.A
2.A,B,C,D
3. B A C,. D
4. B,C,A.D

1) 1

2) 2

(3) 3

4) 4

B3 a1 & [ Aot DT BIAhHAMER HRYT DI :

PR
B. vy

C. gary
D. gaieA

A Rw arw dedt & ¥ I8 3t & 99 FiaT:

1.D,C.B,A
2.A.B,C,D
3.B:A.CD
4.B,C,A,D

1) 1

2) 2

3) 3

4) 4

1[Option ID=317]
2[Option ID=318]
3[Option ID=319]
4[Option ID=320]

102_Hindu Studies

Sl. No.81
QBID:1102081

Arrange the following poets chronologically.

A. Kalidasa

B. Bhasa

C. Ashvaghosha
D. Chandabardai

Choose the correct answer from the options given below :

localhost/ntareportsqp/qPprint.aspx
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A. PIfeIary
B. HIY

C. YUY
D. dedian

1.B.A, C,
2.A,B,C,
3aD:CB;
4.B,D,C,

1 1

2) 2

3) 3

(4) 4

1[Option ID=321]
2[Option ID=322]
3[Option ID=323]
4[Option ID=324]

et i)

FufeiRaa siadi &1 PramsH & faRgu -

A fgw arw fashedl # & HAL I &1 944 il

102_Hindu Studies

Sl. No.82
QBID:1102082

A. Gautama
B. Patanjali
C. Kanada
D. Jaimini
E. Kapila

AWM
WP 0P

-

b b=
> I i
Mmoo
wlwle v

1 1
2) 2
3) 3
4) 4

Choose the correct answer from the options given below :

A TiaH
B. qasifd
C. g
D. STl
E. ®iUd

W=
AW
MmO P 0
e 3

> 1 o
w0 P

B

1) 1
2) 2
3) 3
4) 4

1[Option ID=325]
2[Option ID=326]

localhost/ntareportsqp/qPprint.aspx

A fer a1v Tashed! # @ HEL 30X &1 98« Hifa:

List the following acharyas in the correct sequence corresponding to Samkhya, Yoga, Nyaya, Vaisheshika and
Mimamsa Darshanas.

qiRa, I, U1, deifse 3R HHRT M & =] &1 ol HH 6 -
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3[Option ID=327]
4[Option ID=328]

102_Hindu Studies

Sl. No.83
QBID:1102083

A. Vismaya
B. Jugupsa
C. Rati

D. Krodha
E. Utsaha

1.C,E A,
2 EC. B
3.A,B,C
4. C,E, B,

1 1

(2) 2

3) 3

(4) 4

A fawg

B. STl
C.3fd

D. BlY
E. 308

b 1o
wAa®mp

opmo
o O
>opw

P

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=329]
2[Option ID=330]

3[Option ID=331]
4[Option ID=332]

Choose the correct answer from the options given below :

>opw
o loo B

A Ru arw RBeedt & ¥ T8I 3t & 99 hifam

Omo g

Arrange the following sthayi-bhavas in the right sequence corresponding to the following sequence of rasas :
Sringara, Vira, Bibhatsa, Adbhuta and Raudra.

FFR. AR, dH, SIGHA 3R s T & R HIdl D1 U8 bHA R E 2

Sl. No.84
QBID:1102084

Statement I
Statement IT

1 1
(2) 2
3) 3
(4) 4

localhost/ntareportsqp/qPprint.aspx

Given below are two statements :
Valmiki Ramayana is an Itihasa text.
There are many traditions of Ramayana in the South-East Asia.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
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T e wue few o g

FUT | ; e THEEI UF STaerd 39 § |
Fud || : SET-qE TfERr F AR f 3w WO §
ITRIFd FUA & Ielle A, @ Gu 77 GFed] A ¥ ail IREd S0 &1 999 Hiel:

1. wua | 3R 1l et acg &
2. woe | 3R I gt e &
3.y | T §, oiferet e || 36T &

4, Fue | 36T &, oifhd T Il T &
(1) 1
(2) 2
(3) 3
) 4
1[Option ID=333]
2[Option ID=334]

3[Option ID=335]
4[Option ID=336]

Sl. No.85
QBID:1102085

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : At the fundamental level male and female are facets of the same One truth.

Reason R : ‘Sarvam Khalvidam Brahma’ i.e, Brahman exists everywhere.

If so, by implication there should be no fundamental distinction between the male and the female.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
2) 2
(3) 3
(4) 4

ofrer o1 wue fqw arv §: e srfEwud (Assertion A) & 7 # Af@d § @ gEwr 389 #ROT (Reason R) & ¥ #:
JfHwad A @ T8 vd qe9 Hifcs Ty 9 UH & Ted & Al g |

&ROT R : 'wd @icas geF 32 9eA a7 faegAe & | 3¢ 0 & o ©f-gey & Alfes wav o 8 & ?
SIS HY & 3Tclld H, - 3T MU f[dh el & I Ta9 Iugad IR 1 99 HifoT |

1. A 3R R e |8 & 3R R, A &1 a8 arear &
2. A 3R R a4 w1 &, ofea R, A &1 Gy corewr 781 &
AT L AIFT R FE AT R

4 AT AT § ofh R WY &
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=337]
2[Option ID=338]

3[Option ID=339]
4[Option ID=340]

Sl. No.86
QBID:1102086
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Given below are two statements :

StatementI : Hindrances (Vighna) arise as we do not perform Nitya Karma. So, Nitya Karmas must be
performed.
StatementII : Repentence (Prayashchitta) makes us free from Papa (sin)

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
) 2
(3) 3
(4) 4

A e Fud fEw T
FUT | Tasd J # § 35 3000 gld § | Ho: 3AdT 3T TEaried &l |
Fud |l : yafdag & o7 § Fgfy e §
W U & 3elteh 7, #7180 710 fahedl # ¥ Hatl 3Udd I &1 Td SIS
1.y | 3 1 1 @ &
2. %y | 3R 1 gt Tea §
3. e | G &, Afthad sy || e §

4. Fua7 | 79T &, fereT o Il 9T &
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=341]
2[Option ID=342]

3[Option ID=343]
4[Option ID=344]

Sl. No.87
QBID:1102087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :  Abhyasayoga is means of attaining moksha.

ReasonR: Attachment to sensual object is an impediment in the path of moksha.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
) 2
(3) 3
(4) 4
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A1 o e few aw §: ve fEwua (Assertion A) & w7 & ff@a § a g@¥r 39F FROT (Reason R) & ¥ #:

sifdrerereT A eI GG & Ueh 3919 § |

FROT R : A9Ugdraer o &R AaT & e A o & |

SWRIGT HY & 3Tcld H, - 3T MY g el & I Ia9 Iugad IR o1 99 DI |

1. A 3R R & |8 & 3k R, A &1 a8 arear &
2. A 3R R = @fr § @i R, A &1 T8 oarear 79T &
AT L AIFT R FE AT R

4 A wfr =g & ofha R @gr &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=345]
2[Option ID=346]

3[Option ID=347]
4[Option ID=348]

Sl. No.88
QBID:1102088

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :  The knowledge of objects composed of five mahabhutas is acquired through the Jnana-indriyas.
ReasonR: Atma is the substratum of knowledge acquired through Jnana-indriyas.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
11
(2) 2
3) 3
(4) 4

ofrer o7 @y fow v §: ue srfEiwud (Assertion A) & 9 & @@ § @ gEw 38% &RT (Reason R) & &9 #:

#HFud A : TsaEgnd & AT @l @& 9 Fefeed & ured g i |

HIOT R : Afeaal & wiea fawa=re 1 31fEeaor 3eAT §

[

Suerd Y & 3Teiieb H, I fGT Y fadbedl H 9 9l 3ugdd 3R &1 99 DI |

1.A 3R R e @f § 3R R, A &7 oy e &
2. A 3R R g Tfr § ot R, A & 98T OTEar ST o
3. A Gfr ¢ ot R @ 78T &

4. ATl afi § ofte R TET &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=349]
2[Option ID=350]

3[Option ID=351]
4[Option ID=352]

Sl. No.89
QBID:1102089
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Given below are two statements :

StatementI : Devadutta uses accurate language because he has studied Vyakarana.
StatementII : Vyakarana trains one to use language with precision and accuracy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
2) 2
(3) 3
4) 4

1 g e BT e §:

®Ye | Sded UcE AT BN FGET Bl &, Fifh 3007 SATROT ATET @ Medde AT § |

FUF || ; FIT AT AFT FT TEF UG G YT 3T F ¢ AAfETT Far g
FI9GFT dUA & el A, A QU v BFed] # ¥ F9U 39gFd S H w9ha Hiiele

1. wua | 3R 1l et acg &
2. woe | 3R I gt e &
3. Fud | T §, ofthet &y |l 30T &

4, Fue | 36T &, oifhd T Il T &
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=353]
2[Option ID=354]

3[Option ID=355]
4[Option ID=356]

Sl. No.90
QBID:1102090

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :  An analytical understanding of ancient Bhartiya texts using modern Western methods can be
seriously flawed.

ReasonR: Bhartiya traditions and culture do not necessarily conform to Western notions and frameworks.
In the light of the above statements, choose the most appropriate answer from options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
)1
) 2
3) 3
(4) 4
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AT g Fer fGw 7w §: U aifFeue (Assertion A) F ¥ # f@f@a § d g@wr 3@& HROT (Reason R) & 39 #:

sifiwed A : 3Tafee draca wafil | smenia o ARdR @t @ AeueTors @RS g d & @ Bl

FROT R AT WRN AR Tl 9reared aRonst vd SR@Ens & 367 d5d #@a! eidl & |
U] Y & 3Tedicb H, < fGT Y fddbedl H 9 9l 3ugdd It &1 99 DI |

1.A 3R R e @d § 3R R, A &7 @y s &
2. A 3R R o= 8 §, ofha R, A &1 GET carEr A8 &
AT T IfFT R AT A ¥

4 A wfr =g & ofha R @gr &
(1)1
(2) 2
3) 3
(4) 4
1[Option ID=357]
2[Option ID=358]

3[Option ID=359]
4[Option ID=360]

Sl. No.91
QBID:1102091

localhost/ntareportsqp/qPprint.aspx 53/105



2/22/23, 6:26 PM 102_Hindu Studies

Read the following passage carefully and answer the questions that follow:

King Yudhisthira asked — “Pitamah! How a king, who desires to be always anchored in Dharma, is supposed to
act”. Bhishmaji replied- I will cite the teachings of the eminently knowledgeable Mahatma Vamadeva given to
King Vasumana.

The great sage Vamadevaji said “O King! You should solely practice Dharma, as there is nothing superior to
Dharma. A king who is anchored in Dharma eventually is able to control the entire Earth. A king who prioritizes
Dharma over acquisition of material prosperity, and thus works towards the advancement of Dharma, becomes
prestigious and respected. In contrast a king who is driven by Adharma and indulges in Adharma, loses both -
Dharma as well as material prosperity.

A king should never consider himself as complete; even if he is endowed with Dharma, wealth, desire to act,
intellect, and friends. These five endowments provide the basis for the king to engage with people. It is through
these that he earns fame, respect, prosperity and the trust of the people. However, a king who is a miser, lacks
affection, punishes people for purpose of making them miserable, is undiscriminating and unable to identify
criminals - Such a king earns infamy while alive and enters Naraka upon death. However, a king who is
respectful, generous. speaks gently, relies on the advice of his Guru in the affairs of Dharma, can figure out self-
interest by himself, and considers Dharma as the highest reward - such a king remains happy for a long time.”

A king is expected to help even those who in the past have been unfair to him. He should not engage in
falsehood, should help others even when not explicitly sought, should not stray away from Dharma due by
certain desires, or due to anger or because of enmity. He should not hesitate to answer when questioned, should
not make statements which are not thought through, should not act in haste, and should not have coloured
opinions. Through such behavior, he can even control his enemies. He should remain thoughtful of his citizens
welfare even if his national income is running short.

fafaied @1 ué ok - faw T usii & IR difore :

TSI GfATER = U1 - OdrHe | i iy i o # fRUd g1 =16, 3¢ [ d YR &1 adid 1 =gy |
Hiesil 4 el - 39 [aw A # Twezil AT acdsil &1 HeRTS aga-l o 631 T/ 3ucl aftid Hal g |

HETAURd] aGasil 4 el AT - "RI6H | GH U BT gl S8 B, & U g o i -Tgl § | Sl Aol oH |
fRd ¥5d 8. 4 39 IR gedl &1 319 a9 A R oid § | org aafaa &t =P H ofdfifs 31 orde e o1 faviy
e ¢ 3R Sl 3 D 9 P [ddR Bl 6, YH &b HRUI 3P| 95! AU Bl & | 39D [Guid Sfl Il
AT IPR Fald I bl STERUI Bl 5. 3 HH R o2 91 81 a1d H DISHR T oldl 6 |

ST 1 =11 b o, 3, 1A, gf vd il I el g1 WR o1 o0 1 il gl 1 st 3 4Hife gt e
| ABAHAT B MR & | 361 b gRI I I, D, dHT Td Yol DI Il gidil 5 | fobg S a1 v,
HEYA. GUS & gRIUSH Dl -4 & dTdl 3R JfaeH gidl ¢ auT o efuryell o1 +if ug=r =18l gidl, 39!
dlb H UpIfd gkl & SR TR WR AR H SHI YSdl ¢ adl Sl GERI 1 HI- B drdl. &l HERHTN], ¢ &b
a5 o 716 1 T =e- 9T, 30 31 o1 w98 A ara1 3R 4H D1 g1 Jad 931 drH HH a1l gidl
&, 9g ISl dgd fael deb & HITTdr g |

ST 1 =1feC fob At fdt = oiftr fopar g1 at it ITehT g v | firear Wiy 7 &6 {1 &g g1 gERl &1
0 Y [l BT U, e H TR 3T gV 4 D] AN 9 DY, Dl PO U dl 3UD] IR & H Habld
TR {51 fqaR o1 ot 91 Heg O 7 Fara: fodt o o Ruar T &8 ok frdt 7 2 Swef o 1 o
TR Y T Wl G A g1 Tl § | afe 3 § Sl U8 WY al el gl A1 g1 | 39 9y Hit uoll & gl fgd @1
faaR &Y 1"

Whose teachings does Bhishma navrate in the passage?

1. Devarshi Narada
2. Mahatama Vamadeva
3. Raja Vasumana
4. Maharshi Gautam
(1) 1
2) 2
(3) 3
(4) 4
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39 UR=de H Hiv [yl USRI A1 wE 6 2

1. & IRE
2. HETHT dHcd

3. TSI A
4. Heff Man

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=361]
2[Option ID=362]

3[Option ID=363]
4[Option ID=364]

Sl. No.92
QBID:1102092

localhost/ntareportsqp/qPprint.aspx 55/105



2/22/23, 6:26 PM 102_Hindu Studies

Read the following passage carefully and answer the questions that follow:

King Yudhisthira asked — “Pitamah! How a king, who desires to be always anchored in Dharma, is supposed to
act”. Bhishmaji replied- I will cite the teachings of the eminently knowledgeable Mahatma Vamadeva given to
King Vasumana.

The great sage Vamadevaji said “O King! You should solely practice Dharma, as there is nothing superior to
Dharma. A king who is anchored in Dharma eventually is able to control the entire Earth. A king who prioritizes
Dharma over acquisition of material prosperity, and thus works towards the advancement of Dharma, becomes
prestigious and respected. In contrast a king who is driven by Adharma and indulges in Adharma, loses both -
Dharma as well as material prosperity.

A king should never consider himself as complete; even if he is endowed with Dharma, wealth, desire to act,
intellect, and friends. These five endowments provide the basis for the king to engage with people. It is through
these that he earns fame, respect, prosperity and the trust of the people. However, a king who is a miser, lacks
affection, punishes people for purpose of making them miserable, is undiscriminating and unable to identify
criminals - Such a king earns infamy while alive and enters Naraka upon death. However, a king who is
respectful, generous. speaks gently, relies on the advice of his Guru in the affairs of Dharma, can figure out self-
interest by himself, and considers Dharma as the highest reward - such a king remains happy for a long time.”

A king is expected to help even those who in the past have been unfair to him. He should not engage in
falsehood, should help others even when not explicitly sought, should not stray away from Dharma due by
certain desires, or due to anger or because of enmity. He should not hesitate to answer when questioned, should
not make statements which are not thought through, should not act in haste, and should not have coloured
opinions. Through such behavior, he can even control his enemies. He should remain thoughtful of his citizens
welfare even if his national income is running short.

fafaied @1 ué ok - faw T usii & IR difore :

TSI GfATER = U1 - OdrHe | i iy i o # fRUd g1 =16, 3¢ [ d YR &1 adid 1 =gy |
Hiesil 4 el - 39 [aw A # Twezil AT acdsil &1 HeRTS aga-l o 631 T/ 3ucl aftid Hal g |

HETAURd] aGasil 4 el AT - "RI6H | GH U BT gl S8 B, & U g o i -Tgl § | Sl Aol oH |
fRd ¥5d 8. 4 39 IR gedl &1 319 a9 A R oid § | org aafaa &t =P H ofdfifs 31 orde e o1 faviy
e ¢ 3R Sl 3 D 9 P [ddR Bl 6, YH &b HRUI 3P| 95! AU Bl & | 39D [Guid Sfl Il
AT IPR Fald I bl STERUI Bl 5. 3 HH R o2 91 81 a1d H DISHR T oldl 6 |

ST 1 =11 b o, 3, 1A, gf vd il I el g1 WR o1 o0 1 il gl 1 st 3 4Hife gt e
| ABAHAT B MR & | 361 b gRI I I, D, dHT Td Yol DI Il gidil 5 | fobg S a1 v,
HEYA. GUS & gRIUSH Dl -4 & dTdl 3R JfaeH gidl ¢ auT o efuryell o1 +if ug=r =18l gidl, 39!
dlb H UpIfd gkl & SR TR WR AR H SHI YSdl ¢ adl Sl GERI 1 HI- B drdl. &l HERHTN], ¢ &b
a5 o 716 1 T =e- 9T, 30 31 o1 w98 A ara1 3R 4H D1 g1 Jad 931 drH HH a1l gidl
&, 9g ISl dgd fael deb & HITTdr g |

ST 1 =1feC fob At fdt = oiftr fopar g1 at it ITehT g v | firear Wiy 7 &6 {1 &g g1 gERl &1
0 Y [l BT U, e H TR 3T gV 4 D] AN 9 DY, Dl PO U dl 3UD] IR & H Habld
TR {51 fqaR o1 ot 91 Heg O 7 Fara: fodt o o Ruar T &8 ok frdt 7 2 Swef o 1 o
TR Y T Wl G A g1 Tl § | afe 3 § Sl U8 WY al el gl A1 g1 | 39 9y Hit uoll & gl fgd @1
faaR &Y 1"

As per the passage, a king

1. Should speak untruth.
2. Should not abandon Dharma due to anger or jealousy.
3. Should find faults with others.
4. Should act in haste.
(11
2) 2
3) 3
(4) 4
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qR=3q o TR ISl DI

1. 3 HYU[ HAT 18T |

2. ShIe AT eNaR 4H BT AN el BT 91eU |
3. [l 4 QIY-2fP H=H1 918U |

4. BHI H STecdro] HHl 918U |

11

) 2

3) 3

4) 4

1[Option ID=365]
2[Option ID=366]
3[Option ID=367]
4[Option ID=368]

Sl. No.93
QBID:1102093
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Read the following passage carefully and answer the questions that follow:

King Yudhisthira asked — “Pitamah! How a king, who desires to be always anchored in Dharma, is supposed to
act”. Bhishmaji replied- I will cite the teachings of the eminently knowledgeable Mahatma Vamadeva given to
King Vasumana.

The great sage Vamadevaji said “O King! You should solely practice Dharma, as there is nothing superior to
Dharma. A king who is anchored in Dharma eventually is able to control the entire Earth. A king who prioritizes
Dharma over acquisition of material prosperity, and thus works towards the advancement of Dharma, becomes
prestigious and respected. In contrast a king who is driven by Adharma and indulges in Adharma, loses both -
Dharma as well as material prosperity.

A king should never consider himself as complete; even if he is endowed with Dharma, wealth, desire to act,
intellect, and friends. These five endowments provide the basis for the king to engage with people. It is through
these that he earns fame, respect, prosperity and the trust of the people. However, a king who is a miser, lacks
affection, punishes people for purpose of making them miserable, is undiscriminating and unable to identify
criminals - Such a king earns infamy while alive and enters Naraka upon death. However, a king who is
respectful, generous. speaks gently, relies on the advice of his Guru in the affairs of Dharma, can figure out self-
interest by himself, and considers Dharma as the highest reward - such a king remains happy for a long time.”

A king is expected to help even those who in the past have been unfair to him. He should not engage in
falsehood, should help others even when not explicitly sought, should not stray away from Dharma due by
certain desires, or due to anger or because of enmity. He should not hesitate to answer when questioned, should
not make statements which are not thought through, should not act in haste, and should not have coloured
opinions. Through such behavior, he can even control his enemies. He should remain thoughtful of his citizens
welfare even if his national income is running short.

fafaied @1 ué ok - faw T usii & IR difore :

7S GfAf8R A g1 - fUdre | S 4wt oF | RUd g1 =18, 3¢ {64 TR &1 adid A1 =ey |
Hiesil 4 el - 39 [aw # # Twazil AT acdsil &l HeRTS aga-l ! f6a1 T/ 3ucgl aftid Sdl g |

HETAURd] aGasil 4 el AT - "RI6H | GH U BT gl S8 B, & U g o i -Tgl § | Sl Aol oH |
R Y5 8. 4 39 IR edl &1 310 99 A PR od § | org aufad &t =P H ofdfifs 31 orden e o1 faviy
e ¢ 3R Sl 3 D 9 P [ddR Bl 6, YH &b HRUI 3P| 95! AU Bl & | 39D [Guid Sfl Il
AT IPR Fald I Pl RN Bl 5. 3 HH MR 22 91 81 a1 H DISHR Tl olldl 6 |

ST 1 =11 b o, 3, 1A, gf vd il I el g1 WR o1 o0 1 il gl 1 st 3 4Hife gt e
@] DA B MR & | 361 b gRI I I, DI, dHT Td Yol DI Il gidil 5 | fobg S a1 v,
HEY. GUS & gRI Yol I G- & drdl 3R JfsgH gidl ¢ aul ford efuryell o1 +if ug=r =18l gidl, 39!
dlb H UpIfd gkl & SR TR WR AR H SHI YSdl ¢ adl Sl GERI 1 HI- B drdl. &l HERHTN], ¢ &b
a5 o 716 1 T =e- 9T, 30 31 o1 w98 A ara1 3R 4H D1 g1 Jad 931 drH HH a1l gidl
@, 98 ISl dgd fal deb & HITTdT g |

ST 1 =1fe T fb At fdt 1 oiftr faean 81 at Hit 3Tt o &6 | firea Himor 7 63 ST 68 81 gERl &1
0 Y [l BT U, e H TR 3T gV 4 D] AN 9 DY, Dl PO U dl 3UD] IR & H Habld
TR {51 f9aR o1 ot a1 Heg O 7 Fara: fodt o o Ruar T &8 ok [t 7 2 Swef a o 1 o
TR Y U 1 G A I § | Al 311 | Bl U ST dl Aol @t A g1 | 39 90y i Uell & g1 fgd &1
faaR &Y I

What is the subject of the above passage?

1. Policy of war
2. Conduct of a king
3. Defense
4. Efforts for Mukti
(11
2) 2
3) 3
(4) 4
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Juerd Yi=se foby fawa J eiferd g 2
1. gegiifd |

2. (ST & TR |
3. &l |
4. g & e v |
1) 1
2) 2
(3) 3
4) 4

1[Option ID=369]
2[Option ID=370]
3[Option ID=371]
4[Option ID=372]

Sl. No.94
QBID:1102094
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Read the following passage carefully and answer the questions that follow:

King Yudhisthira asked — “Pitamah! How a king, who desires to be always anchored in Dharma, is supposed to
act”. Bhishmaji replied- I will cite the teachings of the eminently knowledgeable Mahatma Vamadeva given to
King Vasumana.

The great sage Vamadevaji said “O King! You should solely practice Dharma, as there is nothing superior to
Dharma. A king who is anchored in Dharma eventually is able to control the entire Earth. A king who prioritizes
Dharma over acquisition of material prosperity, and thus works towards the advancement of Dharma, becomes
prestigious and respected. In contrast a king who is driven by Adharma and indulges in Adharma, loses both -
Dharma as well as material prosperity.

A king should never consider himself as complete; even if he is endowed with Dharma, wealth, desire to act,
intellect, and friends. These five endowments provide the basis for the king to engage with people. It is through
these that he earns fame, respect, prosperity and the trust of the people. However, a king who is a miser, lacks
affection, punishes people for purpose of making them miserable, is undiscriminating and unable to identify
criminals - Such a king earns infamy while alive and enters Naraka upon death. However, a king who is
respectful, generous. speaks gently, relies on the advice of his Guru in the affairs of Dharma, can figure out self-
interest by himself, and considers Dharma as the highest reward - such a king remains happy for a long time.”

A king is expected to help even those who in the past have been unfair to him. He should not engage in
falsehood, should help others even when not explicitly sought, should not stray away from Dharma due by
certain desires, or due to anger or because of enmity. He should not hesitate to answer when questioned, should
not make statements which are not thought through, should not act in haste, and should not have coloured
opinions. Through such behavior, he can even control his enemies. He should remain thoughtful of his citizens
welfare even if his national income is running short.

fafaied @1 ué ok - faw T usii & IR difore :

TSI GfATER = U1 - OdrHe | i iy i o # fRUd g1 =16, 3¢ [ d YR &1 adid 1 =gy |
Hiesil 4 el - 39 [aw A # Twezil AT acdsil &1 HeRTS aga-l o 631 T/ 3ucl aftid Hal g |

HETAURd] aGasil 4 el AT - "RI6H | GH U BT gl S8 B, & U g o i -Tgl § | Sl Aol oH |
fRd ¥5d 8. 4 39 IR gedl &1 319 a9 A R oid § | org aafaa &t =P H ofdfifs 31 orde e o1 faviy
e ¢ 3R Sl 3 D 9 P [ddR Bl 6, YH &b HRUI 3P| 95! AU Bl & | 39D [Guid Sfl Il
AT IPR Fald I bl STERUI Bl 5. 3 HH R o2 91 81 a1d H DISHR T oldl 6 |

ST 1 =11 b o, 3, 1A, gf vd il I el g1 WR o1 o0 1 il gl 1 st 3 4Hife gt e
| ABAHAT B MR & | 361 b gRI I I, D, dHT Td Yol DI Il gidil 5 | fobg S a1 v,
HEYA. GUS & gRIUSH Dl -4 & dTdl 3R JfaeH gidl ¢ auT o efuryell o1 +if ug=r =18l gidl, 39!
dlb H UpIfd gkl & SR TR WR AR H SHI YSdl ¢ adl Sl GERI 1 HI- B drdl. &l HERHTN], ¢ &b
a5 o 716 1 T =e- 9T, 30 31 o1 w98 A ara1 3R 4H D1 g1 Jad 931 drH HH a1l gidl
&, 9g ISl dgd fael deb & HITTdr g |

ST 1 =1feC fob At fdt = oiftr fopar g1 at it ITehT g v | firear Wiy 7 &6 {1 &g g1 gERl &1
0 Y [l BT U, e H TR 3T gV 4 D] AN 9 DY, Dl PO U dl 3UD] IR & H Habld
TR {51 fqaR o1 ot 91 Heg O 7 Fara: fodt o o Ruar T &8 ok frdt 7 2 Swef o 1 o
TR Y T Wl G A g1 Tl § | afe 3 § Sl U8 WY al el gl A1 g1 | 39 9y Hit uoll & gl fgd @1
faaR &Y 1"

As per the passage, which type of king is glorified?

1. Who spreads his kingdom
2. Who values Dharma over economic pursuits
3. Who does not run away from the battlefield
4. Who defends his country from enemies

(11

2) 2

(3) 3

(4) 4
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qiR=dg &b IR [ IS i gl AT GIAl 6 2

1. ST 30 ooy T fdEdR PR ddi g | _
2. S 3pRiffes I ruar e Bl e Hgd ad g |
3.9 gg H U3 el feardi g |

4. 1 QA3 & ATHHUI H =T b1 & PRAT 6 |

o 2

3) 3

4) 4

1[Option ID=373]
2[Option ID=374]
3[Option ID=375]
4[Option ID=376]

Sl. No.95
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Read the following passage carefully and answer the questions that follow:

King Yudhisthira asked — “Pitamah! How a king, who desires to be always anchored in Dharma, is supposed to
act”. Bhishmaji replied- I will cite the teachings of the eminently knowledgeable Mahatma Vamadeva given to
King Vasumana.

The great sage Vamadevaji said “O King! You should solely practice Dharma, as there is nothing superior to
Dharma. A king who is anchored in Dharma eventually is able to control the entire Earth. A king who prioritizes
Dharma over acquisition of material prosperity, and thus works towards the advancement of Dharma, becomes
prestigious and respected. In contrast a king who is driven by Adharma and indulges in Adharma, loses both -
Dharma as well as material prosperity.

A king should never consider himself as complete; even if he is endowed with Dharma, wealth, desire to act,
intellect, and friends. These five endowments provide the basis for the king to engage with people. It is through
these that he earns fame, respect, prosperity and the trust of the people. However, a king who is a miser, lacks
affection, punishes people for purpose of making them miserable, is undiscriminating and unable to identify
criminals - Such a king earns infamy while alive and enters Naraka upon death. However, a king who is
respectful, generous. speaks gently, relies on the advice of his Guru in the affairs of Dharma, can figure out self-
interest by himself, and considers Dharma as the highest reward - such a king remains happy for a long time.”

A king is expected to help even those who in the past have been unfair to him. He should not engage in
falsehood, should help others even when not explicitly sought, should not stray away from Dharma due by
certain desires, or due to anger or because of enmity. He should not hesitate to answer when questioned, should
not make statements which are not thought through, should not act in haste, and should not have coloured
opinions. Through such behavior, he can even control his enemies. He should remain thoughtful of his citizens
welfare even if his national income is running short.

fafaied @1 ué ok - faw T usii & IR difore :

TSI GfATER = U1 - OdrHe | i iy i o # fRUd g1 =16, 3¢ [ d YR &1 adid 1 =gy |
Hiesil 4 el - 39 [aw A # Twezil AT acdsil &1 HeRTS aga-l o 631 T/ 3ucl aftid Hal g |

HETAURd] aGasil 4 el AT - "RI6H | GH U BT gl S8 B, & U g o i -Tgl § | Sl Aol oH |
fRd ¥5d 8. 4 39 IR gedl &1 319 a9 A R oid § | org aafaa &t =P H ofdfifs 31 orde e o1 faviy
e ¢ 3R Sl 3 D 9 P [ddR Bl 6, YH &b HRUI 3P| 95! AU Bl & | 39D [Guid Sfl Il
AT IPR Fald I bl STERUI Bl 5. 3 HH R o2 91 81 a1d H DISHR T oldl 6 |

ST 1 =11 b o, 3, 1A, gf vd il I el g1 WR o1 o0 1 il gl 1 st 3 4Hife gt e
| ABAHAT B MR & | 361 b gRI I I, D, dHT Td Yol DI Il gidil 5 | fobg S a1 v,
HEYA. GUS & gRIUSH Dl -4 & dTdl 3R JfaeH gidl ¢ auT o efuryell o1 +if ug=r =18l gidl, 39!
dlb H UpIfd gkl & SR TR WR AR H SHI YSdl ¢ adl Sl GERI 1 HI- B drdl. &l HERHTN], ¢ &b
a5 o 716 1 T =e- 9T, 30 31 o1 w98 A ara1 3R 4H D1 g1 Jad 931 drH HH a1l gidl
&, 9g ISl dgd fael deb & HITTdr g |

ST 1 =1feC fob At fdt = oiftr fopar g1 at it ITehT g v | firear Wiy 7 &6 {1 &g g1 gERl &1
0 Y [l BT U, e H TR 3T gV 4 D] AN 9 DY, Dl PO U dl 3UD] IR & H Habld
TR {51 fqaR o1 ot 91 Heg O 7 Fara: fodt o o Ruar T &8 ok frdt 7 2 Swef o 1 o
TR Y T Wl G A g1 Tl § | afe 3 § Sl U8 WY al el gl A1 g1 | 39 9y Hit uoll & gl fgd @1
faaR &Y 1"

As per the passage, which type of king gets defamed?

1. Who is of low intellect, and cannot identify criminals.
2. Who is a miser and is devoid of affection?
3. Who punishes people to make them miserable.
4. All the above.
)1
2) 2
3) 3
(4) 4
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qR=se b AR [ IS BT Suahifd gidl g 2
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o 2

3) 3

(4) 4

1[Option ID=377]
2[Option ID=378]
3[Option ID=379]
4[Option ID=380]

Sl. No.96
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Read the following passage carefully and answer the questions that follow:

During their exile, the Pandavas were having a conversation with Draupadi. Upon hearing how they were
rendered homeless by the cunningness and deceit of Duryodhana, Draupadi responded angrily by saying that a
foe should be treated in ways consistent with one’s glory and strength, and should not always be forgiven. Upon
hearing this, Yudhisthira responded that anger is the abode of all evils, and thus one should always pursue
forgiveness and compassion as such is the Sanatana Dharma.

Hearing this Draupadi responded back; “Dharmaraj! The State does not prosper by following the path of
Dharma, kindness, forgiveness and if one is scared of public criticism. It is evident that you and your valiant
brothers are endowed with all the qualities of rulers. Such misery does not befit you. And yet, you all have had to
bear these hardships.”

Yudhisthira responded; “Dear one! I do not act with the expectation of fruits. I give dana because it is Dharma.
I perform yajna because it is supposed to be done. I do what needs to be done. Performing one’s duty with
expectation of fruits is highly condemnable. One should never doubt Dharma even when one does not reap the
benefits while following it”

Draupadi replied: “Dharmaraj! A knowledgeable person should certainly act because only unconscious
objects and not conscious beings, can exist in absence of action. All beings understand what is to their benefit.
Thus you should act and avoid abstaining from action. Even the Himalaya will become diminished if one chisels
it away daily while it exhibits no growth. Thus, action is very much needed to protect and enhance wealth. One
cannot avoid action, even if it is deemed fruitless, because sans action one cannot sustain oneself. Those who are
patient never stray away from the path of action. They never have doubts about the fruits of action”

frefafad o1 g ok i1 13y ma usl & IR difSe -

G1ATY & GRT 9iSd IGRIHA §IHR SiUal & HIY 3R 941 HR g A | 15/ YR 4 gUie o ¢didl iR
HYC U I a1 &1 1331, 39 R SIUCl Bl Shiidd gibR Hodl ¢ 1o A3 U &1 BT e! HTUq Y
@ I IGR B dlMeT | 59 W AR BEd o 19 hie GVl DI €R &, 3Hc: AT DI FaT &A1 3R &H
BN =T, i T FAI 4 B |

qE DR IUal - DGl - YHRIST | TH ST H UHTERUL, TATHIG, &FT auT dld-1a1 & Ha Y Asadar 7ol
fAretcll | a8 <1d Udal ¢ fob o quT afdeh Heldell HIgdl H USiUTe B3 dig GH U g | oflg il g
YA A ST € | R off 311} 98 S We T US RET e |

30 R GRIRPR A Fel - B 1 7 & &1 ot o g o 1 o | WA, o 3 o @, Ui AT § u
D MY, THIAT T HRAT g | ST H U Do BT UTel bral g | bt Hit ez goy & for dia-
HId BT dgd gl e g | 4HRU 63 W afe 3961 Bd A ffd dl Hi 4H W ddg 181 S =1igy |

SIUE A BT - (RIS | SFHR A &1 HH G 8l Sl A1l Fifds fa1 & fhe dvad 51 uard gt it
Pd g, 9 ol 8T | T« UTolt 9= I 99 & | SHICE 39 HH S, 39 Iedigd Jd | ai
feurer oien ugrs i widfdT @ S ik 394 gl A 8l dl drs fa-i 1 &fivr g1 Sirdn g | 3ufad o o1 &l
R Tlegt B B ST HH B B TSI HaADhdl § | TG HH DI 186 HFT AW o 1 HH A1 61 T
s o fobe a1 [l YbR Siifdehl Al 9dd Yabd! | R Yoy Hdal &8 d- H I Igd § AR Bd b
et # HHl Heg Tol Hd |

According to Draupadi enemies ought to be treated with

1. Forgiveness
2. According to one’s strength
3. Kindness
4. Love
1) 1
) 2
3) 3
(4) 4
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1) 1

2) 2

3) 3

4) 4

N VS R S

1[Option ID=381]
2[Option ID=382]
3[Option ID=383]
4[Option ID=384]
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Read the following passage carefully and answer the questions that follow:

During their exile, the Pandavas were having a conversation with Draupadi. Upon hearing how they were
rendered homeless by the cunningness and deceit of Duryodhana, Draupadi responded angrily by saying that a
foe should be treated in ways consistent with one’s glory and strength, and should not always be forgiven. Upon
hearing this, Yudhisthira responded that anger is the abode of all evils, and thus one should always pursue
forgiveness and compassion as such is the Sanatana Dharma.

Hearing this Draupadi responded back; “Dharmaraj! The State does not prosper by following the path of
Dharma, kindness, forgiveness and if one is scared of public criticism. It is evident that you and your valiant
brothers are endowed with all the qualities of rulers. Such misery does not befit you. And yet, you all have had to
bear these hardships.”

Yudhisthira responded; “Dear one! I do not act with the expectation of fruits. I give dana because it is Dharma.
I perform yajna because it is supposed to be done. I do what needs to be done. Performing one’s duty with
expectation of fruits is highly condemnable. One should never doubt Dharma even when one does not reap the
benefits while following it”

Draupadi replied: “Dharmaraj! A knowledgeable person should certainly act because only unconscious
objects and not conscious beings, can exist in absence of action. All beings understand what is to their benefit.
Thus you should act and avoid abstaining from action. Even the Himalaya will become diminished if one chisels
it away daily while it exhibits no growth. Thus, action is very much needed to protect and enhance wealth. One
cannot avoid action, even if it is deemed fruitless, because sans action one cannot sustain oneself. Those who are
patient never stray away from the path of action. They never have doubts about the fruits of action”

frefafad o1 g ok i1 13y ma usl & IR difSe -

G1ATY & GRT 9iSd IGRIHA §IHR SiUal & HIY 3R 941 HR g A | 15/ YR 4 gUie o ¢didl iR
HYC U I a1 &1 1331, 39 R SIUCl Bl Shiidd gibR Hodl ¢ 1o A3 U &1 BT e! HTUq Y
@ I IGR B dlMeT | 59 W AR BEd o 19 hie GVl DI €R &, 3Hc: AT DI FaT &A1 3R &H
BN =T, i T FAI 4 B |

qE DR IUal - DGl - YHRIST | TH ST H UHTERUL, TATHIG, &FT auT dld-1a1 & Ha Y Asadar 7ol
fAretcll | a8 <1d Udal ¢ fob o quT afdeh Heldell HIgdl H USiUTe B3 dig GH U g | oflg il g
YA A ST € | R off 311} 98 S We T US RET e |

30 R GRIRPR A Fel - B 1 7 & &1 ot o g o 1 o | WA, o 3 o @, Ui AT § u
D MY, THIAT T HRAT g | ST H U Do BT UTel bral g | bt Hit ez goy & for dia-
HId BT dgd gl e g | 4HRU 63 W afe 3961 Bd A ffd dl Hi 4H W ddg 181 S =1igy |

SIUE A BT - (RIS | SFHR A &1 HH G 8l Sl A1l Fifds fa1 & fhe dvad 51 uard gt it
Pd g, 9 ol 8T | T« UTolt 9= I 99 & | SHICE 39 HH S, 39 Iedigd Jd | ai
feurer oien ugrs i widfdT @ S ik 394 gl A 8l dl drs fa-i 1 &fivr g1 Sirdn g | 3ufad o o1 &l
R Tlegt B B ST HH B B TSI HaADhdl § | TG HH DI 186 HFT AW o 1 HH A1 61 T
s o fobe a1 [l YbR Siifdehl Al 9dd Yabd! | R Yoy Hdal &8 d- H I Igd § AR Bd b
et # HHl Heg Tol Hd |

With what intent did Yudhishthir perform actions ?

1. to bear sufferings
2. to remove flaws
3. to uphold Dharma
4. for achieving fruits of actions
(11
) 2
(3) 3
(4) 4
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1[Option ID=385]
2[Option ID=386]
3[Option ID=387]
4[Option ID=388]
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Read the following passage carefully and answer the questions that follow:

During their exile, the Pandavas were having a conversation with Draupadi. Upon hearing how they were
rendered homeless by the cunningness and deceit of Duryodhana, Draupadi responded angrily by saying that a
foe should be treated in ways consistent with one’s glory and strength, and should not always be forgiven. Upon
hearing this, Yudhisthira responded that anger is the abode of all evils, and thus one should always pursue
forgiveness and compassion as such is the Sanatana Dharma.

Hearing this Draupadi responded back; “Dharmaraj! The State does not prosper by following the path of
Dharma, kindness, forgiveness and if one is scared of public criticism. It is evident that you and your valiant
brothers are endowed with all the qualities of rulers. Such misery does not befit you. And yet, you all have had to
bear these hardships.”

Yudhisthira responded; “Dear one! I do not act with the expectation of fruits. I give dana because it is Dharma.
I perform yajna because it is supposed to be done. I do what needs to be done. Performing one’s duty with
expectation of fruits is highly condemnable. One should never doubt Dharma even when one does not reap the
benefits while following it”

Draupadi replied: “Dharmaraj! A knowledgeable person should certainly act because only unconscious
objects and not conscious beings, can exist in absence of action. All beings understand what is to their benefit.
Thus you should act and avoid abstaining from action. Even the Himalaya will become diminished if one chisels
it away daily while it exhibits no growth. Thus, action is very much needed to protect and enhance wealth. One
cannot avoid action, even if it is deemed fruitless, because sans action one cannot sustain oneself. Those who are
patient never stray away from the path of action. They never have doubts about the fruits of action”

frafaiad 1 ud SR i few 7 Ui & IR g -

G1ATY & GRT 9iSd IGRIHA §IHR SiUal & HIY 3R 941 HR g A | 15/ YR 4 gUie o ¢didl iR
HYC U I a1 &1 1331, 39 R SIUCl Bl Shiidd gibR Hodl ¢ 1o A3 U &1 BT e! HTUq Y
@ I HIGR B dlioC | 39 WR YA BEd © 19 hie QINl DI €R 6, 3Hd: AT DI FaT &l 3R &H
BN =T, i T FAI 4 B |

qE DR IUal - DGl - YHRIST | TH ST H UHTERUL, TATHIG, &FT auT dld-1a1 & Ha Y Asadar 7ol
fAretcll | a8 <1d Udal ¢ fob o quT afdeh Heldell HIgdl H USiUTe B3 dig GH U g | oflg il g
YA A ST € | o) off 311} 98 S We T uS e e |

30 R GRBR A Fel - B 1 7 & &1 ot o g o 1 o | WA, o 3 o ©, Ui A § E
D MY, THIAT T HRAT g | ST H U Do BT UTel bral g | bt Hit ez goy & for dia-
HId D1 dgd gl Fa-id 8 | 4HfRU 63 W Al 391 B A e dl Hi 4H W ddg 181 S =1igy |

SIUE A BT - (RIS | MR A &1 B G 81 H1 A1 Fifds fae1 v fohe dvad 51 uard gt it
Pd g, 9 ol 8T | T« UTolt 9= I 99 & | SHICE 39 HH S, 39 Iedigd Jd | ai
feurer oien ugrs i widfdT @ S ik 394 gl A 8l dl drs fa-i 1 &fivr g1 Sirdn g | 3ufad o o1 &l
IR g DA & (e HH DA DI d31 Gl ¢ | Al HH Dl Fhd AT AT dl 4 HH HIAT 1 TST;
s B fobe fae1 [l YR Siifdehl Al add Yabd! | R GV Hdal &8 d- H T Igd § AR Bd &
qae # HHl ag el D |

The simile of the Himalayas has been provided in which context ?

1. Advancement of human beings.
2. Throwing light on the importance of actions.
3. Self defence.
4. Realisation of Ishwara.
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=389]
2[Option ID=390]
3[Option ID=391]
4[Option ID=392]
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Read the following passage carefully and answer the questions that follow:

During their exile, the Pandavas were having a conversation with Draupadi. Upon hearing how they were
rendered homeless by the cunningness and deceit of Duryodhana, Draupadi responded angrily by saying that a
foe should be treated in ways consistent with one’s glory and strength, and should not always be forgiven. Upon
hearing this, Yudhisthira responded that anger is the abode of all evils, and thus one should always pursue
forgiveness and compassion as such is the Sanatana Dharma.

Hearing this Draupadi responded back; “Dharmaraj! The State does not prosper by following the path of
Dharma, kindness, forgiveness and if one is scared of public criticism. It is evident that you and your valiant
brothers are endowed with all the qualities of rulers. Such misery does not befit you. And yet, you all have had to
bear these hardships.”

Yudhisthira responded; “Dear one! I do not act with the expectation of fruits. I give dana because it is Dharma.
I perform yajna because it is supposed to be done. I do what needs to be done. Performing one’s duty with
expectation of fruits is highly condemnable. One should never doubt Dharma even when one does not reap the
benefits while following it”

Draupadi replied: “Dharmaraj! A knowledgeable person should certainly act because only unconscious
objects and not conscious beings, can exist in absence of action. All beings understand what is to their benefit.
Thus you should act and avoid abstaining from action. Even the Himalaya will become diminished if one chisels
it away daily while it exhibits no growth. Thus, action is very much needed to protect and enhance wealth. One
cannot avoid action, even if it is deemed fruitless, because sans action one cannot sustain oneself. Those who are
patient never stray away from the path of action. They never have doubts about the fruits of action”

frafaiad 1 ud SR i few 7 Ui & IR g -

G1ATY & GRT 9iSd IGRIHA §IHR SiUal & HIY 3R 941 HR g A | 15/ YR 4 gUie o ¢didl iR
HYC U I a1 &1 1331, 39 R SIUCl Bl Shiidd gibR Hodl ¢ 1o A3 U &1 BT e! HTUq Y
@ I HIGR B dlioC | 39 WR YA BEd © 19 hie QINl DI €R 6, 3Hd: AT DI FaT &l 3R &H
BN =T, i T FAI 4 B |

qE DR IUal - DGl - YHRIST | TH ST H UHTERUL, TATHIG, &FT auT dld-1a1 & Ha Y Asadar 7ol
fAretcll | a8 <1d Udal ¢ fob o quT afdeh Heldell HIgdl H USiUTe B3 dig GH U g | oflg il g
YA A ST € | o) off 311} 98 S We T uS e e |

30 R GRBR A Fel - B 1 7 & &1 ot o g o 1 o | WA, o 3 o ©, Ui A § E
D MY, THIAT T HRAT g | ST H U Do BT UTel bral g | bt Hit ez goy & for dia-
HId D1 dgd gl Fa-id 8 | 4HfRU 63 W Al 391 B A e dl Hi 4H W ddg 181 S =1igy |

SIUE A BT - (RIS | MR A &1 B G 81 H1 A1 Fifds fae1 v fohe dvad 51 uard gt it
Pd g, 9 ol 8T | T« UTolt 9= I 99 & | SHICE 39 HH S, 39 Iedigd Jd | ai
feurer oien ugrs i widfdT @ S ik 394 gl A 8l dl drs fa-i 1 &fivr g1 Sirdn g | 3ufad o o1 &l
IR g DA & (e HH DA DI d31 Gl ¢ | Al HH Dl Fhd AT AT dl 4 HH HIAT 1 TST;
s B fobe fae1 [l YR Siifdehl Al add Yabd! | R GV Hdal &8 d- H T Igd § AR Bd &
qae # HHl ag el D |

In the passage Draupadi is prompting Dharmaraja for :

1. Earning livilihood
2. Defence of the members of family
3. Making security arrangements during habitation at some unknown location
4. Performing action
(11
2) 2
(3) 3
(4) 4

localhost/ntareportsqp/qPprint.aspx 70/105



2/22/23, 6:26 PM 102_Hindu Studies
Udd UR=se H S1Ud] eriRiet &1 fbd @l & fo1e Uieiied $r @l 6 2

1. ShifdspIgrel

2. URAR 51 &1 &

3. ST P GRI GR&T Usy
4. H R

(1) 1
) 2
3) 3
4) 4

1[Option ID=393]
2[Option ID=394]
3[Option ID=395]
4[Option ID=396]
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Read the following passage carefully and answer the questions that follow:

During their exile, the Pandavas were having a conversation with Draupadi. Upon hearing how they were
rendered homeless by the cunningness and deceit of Duryodhana, Draupadi responded angrily by saying that a
foe should be treated in ways consistent with one’s glory and strength, and should not always be forgiven. Upon
hearing this, Yudhisthira responded that anger is the abode of all evils, and thus one should always pursue
forgiveness and compassion as such is the Sanatana Dharma.

Hearing this Draupadi responded back; “Dharmaraj! The State does not prosper by following the path of
Dharma, kindness, forgiveness and if one is scared of public criticism. It is evident that you and your valiant
brothers are endowed with all the qualities of rulers. Such misery does not befit you. And yet, you all have had to
bear these hardships.”

Yudhisthira responded; “Dear one! I do not act with the expectation of fruits. I give dana because it is Dharma.
I perform yajna because it is supposed to be done. I do what needs to be done. Performing one’s duty with
expectation of fruits is highly condemnable. One should never doubt Dharma even when one does not reap the
benefits while following it”

Draupadi replied: “Dharmaraj! A knowledgeable person should certainly act because only unconscious
objects and not conscious beings, can exist in absence of action. All beings understand what is to their benefit.
Thus you should act and avoid abstaining from action. Even the Himalaya will become diminished if one chisels
it away daily while it exhibits no growth. Thus, action is very much needed to protect and enhance wealth. One
cannot avoid action, even if it is deemed fruitless, because sans action one cannot sustain oneself. Those who are
patient never stray away from the path of action. They never have doubts about the fruits of action”

frefafad o1 g ok i1 13y ma usl & IR difSe -

G1ATY & GRT 9iSd IGRIHA §IHR SiUal & HIY 3R 941 HR g A | 15/ YR 4 gUie o ¢didl iR
HYC U I a1 &1 1331, 39 R SIUCl Bl Shiidd gibR Hodl ¢ 1o A3 U &1 BT e! HTUq Y
@ I IGR B dlMeT | 59 W AR BEd o 19 hie GVl DI €R &, 3Hc: AT DI FaT &A1 3R &H
BN =T, i T FAI 4 B |

qE DR IUal - DGl - YHRIST | TH ST H UHTERUL, TATHIG, &FT auT dld-1a1 & Ha Y Asadar 7ol
fAretcll | a8 <1d Udal ¢ fob o quT afdeh Heldell HIgdl H USiUTe B3 dig GH U g | oflg il g
YA A ST € | R off 311} 98 S We T US RET e |

30 R GRIRPR A Fel - B 1 7 & &1 ot o g o 1 o | WA, o 3 o @, Ui AT § u
D MY, THIAT T HRAT g | ST H U Do BT UTel bral g | bt Hit ez goy & for dia-
HId BT dgd gl e g | 4HRU 63 W afe 3961 Bd A ffd dl Hi 4H W ddg 181 S =1igy |

SIUE A BT - (RIS | SFHR A &1 HH G 8l Sl A1l Fifds fa1 & fhe dvad 51 uard gt it
Pd g, 9 ol 8T | T« UTolt 9= I 99 & | SHICE 39 HH S, 39 Iedigd Jd | ai
feurer oien ugrs i widfdT @ S ik 394 gl A 8l dl drs fa-i 1 &fivr g1 Sirdn g | 3ufad o o1 &l
R Tlegt B B ST HH B B TSI HaADhdl § | TG HH DI 186 HFT AW o 1 HH A1 61 T
s o fobe a1 [l YbR Siifdehl Al 9dd Yabd! | R Yoy Hdal &8 d- H I Igd § AR Bd b
et # HHl Heg Tol Hd |

In the passage Yudhishthira and Draupadi are discussing about which two topics?

1. Virtue — Vice
2. Dharma — Karma
3. Forgiveness — Kindness
4. Consciousness — Inertia
1) 1
() 2
(3) 3
4) 4
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U URwse H g ok giudl f ol fawl R aai v g 6 2

1. 909 - U7q
2. 44 - HH
3. &1 -
4. Id-IdI - Sadl

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=397]
2[Option ID=398]

3[Option ID=399]
4[Option ID=400]

Sl. No.101
QBID:1201001

The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
5.0 ik
36
28
45
5.0
3.0 2 f:
fafeRad IRl § ay 2020 # ©: TRI A-F # Al &1 §&1 (R H) & 1Y goy 9 Afgdl 3R 9igR
[FRER UId WeRid & | gRull # U sfids] & SIUR U Uy PI IR Sl

ST Pl ARAR [dd0l

City

|| of W) e
|| b || || || e || 2
=L || B2 e[| b2 ]| =

6
4
o4
3
1

ad || e || b ] e ] o= ] A

g gt ST
Afgar | FreR
A 30 32 1:4
B il 4:6 4:1
C 28 3:4 2:5
D 45 3:4 A,
E 50 453 273
F 3.0 2:1 T3

The ratio of the number of literates in City-F to that of City-A is:

L b =
GO b b e
.. o U ..
Lh L

(-

=

=
e

1 1
(2) 2
3) 3
4) 4

TR-F 3R WR-A & o HIgR Alaqdl &1 WA D1 U g -

[¥'¥]

S
5
1:10

W b =
oo b o

-
(9]

1) 1
) 2
(3) 3
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(4) 4

1[Option ID=401]
2[Option ID=402]
3[Option ID=403]
4[Option ID=404]

Sl. No.102
QBID:1201002

The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
5.0 =
36
28
43
5.0
30 7:
FrafiRad ARt 7 ay 2020 H &: TRI A-F # Al &1 =1 (dRd H) & 91 goy o Afgdl 3R diaR
fR&R Sfgurd UeiRid § | URU H WRdd efidbs] & MUR IR YUY BT IR IS0

SRS Bl ATRAR [dd30l

City

]l Rw o] le=1 3
b [ b || || ]| e || 2
ol 7= I = I |

= | b ] | B ff = =
[FRY [N (VS | VO (S |

= mﬁmﬁraﬁﬁ)mm T | weR
Afgen | FReR
A 50 3:2 1:4
B 36 16 4:1
C 28 3:4 35
) 45 5:4 32
E 50 243 2:3
F 3.0 231 7:3
The numbers of females in City-B is % of the number of females in City-C.
1. 138
2. 110
3.120
4.135
1
) 2
3) 3
4) 4
TR-C # Afgarail & W & el WR-B H Afgarail &1 T %7%g I
1. 138
2. 110
3.120
4. 135
1
) 2
3) 3
(4) 4

1[Option ID=405]
2[Option ID=406]
3[Option ID=407]
4[Option ID=408]

Sl. No.103
QBID:1201003
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates

5.0 =2
36
2.8
-jr.j
gl aRol & a9 2020 8 : TR A-F H il & Tel (dra 1) & 91 4oy 3 Higdl 3R igR
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

SRS Pl ATRAR [dd0l

City

| b2 ff b || =

] a1 Rwlio fl==1 3
P [| b || ||t || e |f 2

ol R = S
o [ b [ | e ] 4

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
1) 1
2) 2
3) 3
(4) 4

U G 9 3Hfd FReRl o 9@ g -

1.9 &: R
2. B3I iHF TRI A
3. 3ld IR AR |
4. 3P &l TR H

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=409]
2[Option ID=410]

3[Option ID=411]
4[Option ID=412]

Sl. No.104
QBID:1201004
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City wise Distribution of Population

City

Number of Persons

Ratio

(in Lakhs) Males : Females

Literates :

Illiterates

5.0

52

36

238

4.5

5.0

el el Rwl kel == =2

3.0

Pt [| b || || M || o |f L2

ol R = S

| b2 ff b || =

(S [ | S | (e

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

(1) 1
(2) 2
(3) 3
(4) 4

1)1
(2) 2
(3) 3
(4) 4

1.1.67
2.0.2
3.1.08
4, 1.52

1.1.67
2.0.72
3.1.08
4.1.52

1[Option ID=413]
2[Option ID=414]
3[Option ID=415]
4[Option ID=416]

The average of the total number of literate

102_Hindu Studies

The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

FrafaRad arvit # ay 2020 ¥ &: TRI A-F H Al &1 91 (dRg H) & 912 goy 4 digdl 3R 91aR 9
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

OS] Bl ATRAR [dd30l

s in Cities A, B, C and E together is (in lakhs)

TR-A, B. C 3R E H AU ¥Y I $d HI&RI D1 GBI 1 A ¢ (@Rd H) -

Sl. No.105
QBID:1201005
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The table below shows the number of persons (in lakhs) in six cities A-F. along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

Number of Persons Ratio
(in Lakhs) Males : Females Literates : Illiterates
50 it
36
28
4.5
30
3.0 7
FrafaRad arvit # ay 2020 ¥ &: TRI A-F H Al &1 91 (dRg H) & 912 goy 4 digdl 3R 91aR 9
RER SI0Td UeiRid § | ORI H WRdd ofidhs! & YR WYY BT IR alieig:

OS] Bl ATRAR [dd30l

City

] a1 Rwlio fl==1 3
P [| b || ||t || e |f 2

ol R = S
e (RS (R | e o (Rt
o [ b [ | e ] 4

afear | FreR
A 50 3:2 1:4
B 36 4:6 4:1
C 28 3:4 25
D 45 5:4 3:2
E 50 g 2:-3
F 30 2:1 T3

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

23
.97:120
225
.99 1140
1) 1

(2) 2

(3) 3

4 4

Al ay 2020 & FYar aY 2021 H AfdTl B AT H TR-B H 10% 3R TR A H 12% B di Bl 5. dl TR-
B 3R TR A H Al 1 G=1 & o 3T B :

W b =

B

2

972120
TS
4.99: 140

1) 1

(2) 2

(3) 3

@) 4

[
LIS

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]

Sl. No.106
QBID:1201006

Which social media platform introduces one of the main features known as "super follows" ?

1. Facebook
2. Telegram
3. Twitter
4. Whatsapp
(1) 1
(2) 2
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3) 3
(4) 4

fer s AT SER # A 580 Wikl # 9 U BIeR - ‘R Bidle

1. gD
2. CdIUM
3. fear
4. gledq

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.107
QBID:1201007

Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
(11

(2) 2

(3) 3

(4) 4

FFHfaRId § S1H-91 Rigid iR Rigidd? Uefor gRI Hf9m 9 Je6ied g

1. TdgRAIE & Rigid. R
2. TGaA1E1E &1 fgid, g
3. G HTHD Rigid, TS
4. AT -ARB D RHgid, ]
1) 1
2) 2
3) 3
(4) 4

W I =

B

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]

Sl. No.108
QBID:1201008

Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

2) 2

(3) 3

4) 4
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EIE KA AIE BRI

HY-I : RTHD Sl & YdTg bl G faifesd ded d G qifed aed $i 3R IR 3R
IaRI®HRU HichdT gRT uRaldd gldl & |

HYA-I1 : fa= U difesd [afer g ored e 34l ([ o 1T arlgdIe YaM &l Sl 6 |
SWIdd HYF & 3fTcld H, < fau Y gl # ¥ get IIR =99 Pifoy :

1. HUF IR I A Id gl

2. FUYAI AR I I AT g |

3. HFUYT19A g, dfhd HUT 11 3T g
4. HYTI1 I ¢, dibd YT I T g

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.109
QBID:1201009

What is the main aim of classroom management?

. To keep an orderly classroom

. To establish the primacy of the teacher

. To sustain a quiet environment

. To maintain a positive productive learning environment

W I =

B

1) 1
(2) 2
(3) 3
(4) 4

FrfaRad & SI1F-91 e Hee &1 T Se-9 8 2

1. &)1 bl oudRYd @1

2. D D YFT RIMUT BT

3. Q7Td GTdTaR 0l §-1¢ TGH1

. IPRIHD IAGABRI AT gIarao] (GRAL) S48 G-

1 1
(2) 2
3) 3
4) 4

I

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]

Sl. No.110
QBID:1201010
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Match List I with List IT

List I (National MOOCs :
Comnkinkon) List IT ( Programme)
A [University Grants von-Technology post-
" |Commission (UGC) sraduate degree programme
B Consortium for Educational i Headesnais
P e L eacher training programme
INIOS (INational Institute of Non-Technology under-
€ : oL
Open Schooling) |graduate degree programme
e Out of School Children
B: stririe: COTHLG IV, |educational programme
[Teachers Training and ih h
Research) from class 9% to0 12

1. A-III, B-1, C-IV, D-II
2. A-I, B-II1, C-1IV, D-II
3 AL B-1IL, C-1, D-IV
4. A-II, B-L. C-1V, D-1II

Choose the correct answer from the options given below:

1) 1
) 2
3) 3
(@) 4
gl 11 el 11 9 e iy
11 RTETT 4 (MOOCs)
THTTP) guw
- - @
A o (@ o) . WE“ Sy
B. |9ifErs dummI™ i ;{m“i EACR
c [RardRmE@IeE | o | Hisidr
o T U BEHH
g i DEN-9 Y 12 TH
D. |3ee el AR My | V. [Fee & o g &

1.
2.
3,
4.
(1) 1
2) 2
3) 3
(4) 4

A-III, B-1, C-1V, D-1I
A-IL B-IIL. C-IV, D-II
A-IIT, B-II, C-1, D-IV
A-Il, B-L, C-1IV, D-II

1[Option ID=437]
2[Option ID=438]
3[Option ID=439]
4[Option ID=440]

i faU 70 fahegl § 9 Tg1 IR D1 999 HIfT ;

102_Hindu Studies

Sl. No.111
QBID:1201011

Use of theory in social science research is important as it provides:

1. Contrasting framework
2. Excess literature
3. Justification for research
4. Quantitative data

1) 1

2) 2

3) 3

4) 4
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TS fasi =it H Rigid o1 ydiv Ayl ¢ #ife gg UaH adl o :

1. AfdD! TIXET (IhHdD)
2. 3ffoR® Aifgd

R ICEIE IR

4. qETHSD 3idhg

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=441]
2[Option ID=442]
3[Option ID=443]
4[Option ID=444]

SlI. No.112
QBID:1201012

A sample of respondents which is available to researchers because of their access to the respondents is identified
as:

. Random sampling

. Quota sampling

. Snowball sampling

. Convenience sampling
(11

(2) 2

(3) 3

(4) 4

Tl (STRaTdme @1 Pig Uidasl ol [Neddiefl &1 JTRere d& 3@ Ug d (GTHIT) & BRI U
g e, SUSH Y & HT ST & -

1. gref= Ufaaa-
2. FadaETES uldea-
3. |ierd yfa=aaq
4. giqurs-ids Ufc=ae
1) 1
) 2
3) 3
4) 4

I I b =

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]

SlI. No.113
QBID:1201013

Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

1. A,Band C only
2.B, Cand D only
3.C,Dand E only
4. A, B and E only

(11

(2) 2

(3) 3

(4) 4
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frferiad | 17 Fifg ®1 ogafRyd FHlan # urg o grd =Rur ¢ 2

A ™ gl gd S (darsi)

B. 3£30 &l GRUINT HATl

C. 94 [T TTT SeA] &l RISl Ui 33T |
D. U 3 1 [0Tal I gl T |

E. Ud® 99Hd 3e0gq & @] bl IR |

Oy

= 3T U fae el # 9 9ad Iugdd IR &1 94 BT -

1.$dd A, B, C
2. %dd B.C,D
3.$49d C,D.E
4.%dd A, B.E

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
QBID:1201014

Given below are two statements :
Statement I : Quantitative research lays emphasis on the generalisability of findings.

Statement II : Probability sampling does not generate a representative sample.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

2) 2

(3) 3

4) 4

BIEERIG AR
HY [ : GRATMHD e GROMHT (Fh ) B IHEIH0T0d R 99 ol © |

HU 11 : Wil ufa=aa O @i ufafafe ufdesf gf Saz gidig |
IURIF HYF D 3fTdld 4, Fid [T MY f[ddhedi § § Yol 3R 1 94 PifoTT ;

1. HYFI R I EH T &

2. FUYTI IR I A g

3. HUF 1T g, dibd HUF 1 ATA §
4. HYTI 3T 5, AfpT YT T T §

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

In the light of the above statements, choose the correct answer from the options given below :

Sl. No.115
QBID:1201015
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Given below are two statements ;

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement IT : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
11

2) 2

(3) 3

4) 4

BIEERIE AR

HYA T : Ul Uid=a- | g 3M19%d ol o & o-uedl & 9H Yol &1 Ulde § 994 &9 9 wid g+
B HAWR UK 6l |

HYF 11 : TR-UTRAar wia=g fafY U 2 sryar gd-gR{IiNd == Uishar -Tgi g |

IWRIFT HYH & 3did H, i [T T [dhed] § U Yol 39 &I 98- PIfolU :

L PUT TR I T A §
HUFT AR I el 3d &
HYTITI ¢ AfbT YT I T
HYTIA g, AP HYT NI I ©
(1) 1

(2) 2

(3) 3

4) 4

B

[ S B

e

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]

Sl. No.116
QBID:1201016

Language for communication is a product of :

1. Laboratory simulation

2. Religious affiliations
3. Everyday life
4. Elitist preference

(11

2) 2

(3) 3

4) 4

Towor & ferg vt fgifesa & I fegs ue Iare aiom) g 2

1. TARTRITCAT =900
2. eTfi P deeA
3. ¢ Sitaq
4. 3fHSITare] aigdi
11
) 2
(3) 3
4) 4

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]
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Sl. No.117
QBID:1201017

By creating a bunch of expectations, mass media induce which of the following among audiences:

1. Professionalism
2. Preference for corrupt practices
3. Political positivity
4. Self-fulfilling prophecy
11
(2) 2
(3) 3
(4) 4

SR URT 31Ul BT I (o) B S-HIR HIEAH (HIGHITSAT) aRidb)/giarst # Fgifed § 9 a1 uiRkd
RAG 2

1. SISl
2. Y¥ HdgRI gd A

3. YoHIT® ThRIHD
4. TH-YTTIRRT Yigsgaruit
11
) 2
(3) 3
(4) 4

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]

Sl. No.118
QBID:1201018

Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

1. A.Band C only
2.B, Cand D only
3.C,Dand E only
4. A, Cand E only

(11

) 2

(3) 3

4) 4

A9 Uy § fAaifaied oH-9 $R$ MiFdasid e 2

A. U] HT A0 BT |
B. Udlieh! &l WA =T |
C. Uil &1 gL-TR

D. U &1 {Ygoi

E. Udid! &1 TR-ET

i fau U fah el 1§ 9 Yel 3R &1 99+ HIfou :

1. H9d A, B, 3R C
2. HAd B, C, AR D
3. $Had C, D, 3R E
4. HAA A, C, 3R E

localhost/ntareportsqp/qPprint.aspx 84/105




2/22/23, 6:26 PM 102_Hindu Studies

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=469]
2[Option ID=470]

3[Option ID=471]
4[Option ID=472]

Sl. No.119
QBID:1201019

Given below are two statements :

Statement I : Communicative language is the means of transmission of our values and social norms.
Statement IT : Language defines and communicates the world around us.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
11
(2) 2
3) 3
4 4

EIEIEAI AU I

HYTT : GUYUITHS UV §HIR el Td FIATST HIHD] & GEl-<aRUl bl WIeH g |
HYF 1 : HINT GHIR 3MT-UN DI g1 I URHING Ud SUNd &l g |

SWRIad HYA P 3Mdlep H, A 3T TN fabedl # I el IR &1 994 DI :

1. HYF IR I GH 9d &

2. FUFT R I HI 3T g

3. HFUT19A 8, Al HUT 11 3T §
4. PYTI I G, Al YT T §

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.120
QBID:1201020

Given below are two statements ;

Statement I : Communication can create a 'feel good' factor among receivers.
Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4) 4
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A A Py fau U R :

HY L : U UTiehdier # <Fae 3Hfd- (Plers) HRP I HR Jhdl g |

HYT 11 : GYYUT BT 3G Wbl 131 bl dle Ud ¢ PR o U U4 & = 1 [da1 ol Yebdl g |
SWRIdd HYT & 3MTcid H, A faT MY fadedl # ¥ get 3R &1 9g $ifoe :

1. HYF IR I EH I &

2. FUYTI IR I aHI A §

3. FUTI9I g, Al HUT I 3T &
4. FUT1 3T 5, AT PUT I T §

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]

Sl. No.121
QBID:1201021

Consider the series given below :
-5,-3,-5,-2,-5,-1,-5.P,-5,Q,

The values of P and Q i.e. (P.Q) are

(4) 4

At <1 13 YEa R [daR DI

—8;=3,;=0,2;—9,—1;55; B, 5, @,

P 3R Q & UM 31Y(d (P, Q) TG 2

B S B
|
I~
|
[ge]
S

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=481]
2[Option ID=482]

3[Option ID=483]
4[Option ID=484]

Sl. No.122
QBID:1201022

10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days
2. 13 days
3. 15 days
4. 12 days

1) 1

2) 2

(3) 3

(4) 4
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10 fad 7 US1 @ 14 faHT § PIe Tdhd & | 16 Afad 12 US| Bl [aH a4l T Pie Tdhd & 2

16T
J13feA
15T6
J12feF

1) 1
(2) 2
(3) 3
(4) 4

i b —

.

1[Option ID=485]
2[Option ID=486]
3[Option ID=487]
4[Option ID=488]

Sl. No.123
QBID:1201023

The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of
the child ?

1.2
2.3
3

I
%)
h

-
(%]
o
=
w

1) 1
(2) 2
(3) 3
4) 4

i a9 gd 5 Gl & U URAR $1 3f1¥d 241G 17 99 41 3 I anf &l ol A yRaR A b s b TH b
gyTd + URAR DI IdHM S Ed 31 del a1 gl ¢ | g DI aaHH Y RT G 2

S

W D =

Sl

b
(TSI o]
h

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]

Sl. No.124
QBID:1201024

Find a single discount equivalent to two successive discounts of 10% and 20%.

. 27%
. 28%
.30%

25%

W D

=

(1) 1
(2) 2
(3) 3
(4) 4

10% 3R 20% P &l hiHD Fel &b SRR Uhd Fe JId B :

b e 2 b2
th © 00 -1
R R
frioi . - g

Nl

(1) 1
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(2) 2
(3) 3
4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]

Sl. No.125
QBID:1201025

A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

is the person from his starting point ?

. 45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters. east
1) 1
(2) 2
(3) 3
(4) 4

Ueh ofa 30 HieX ITR b1 SR = g, {thr arferl iR g3a1 & 31k 30 Hiex gaar & | 9 fhe arfe-t ok
Sl g 3R 45 Hick 9l ¢ | {hr dg 91t 3R Hedl g 3R 15 HieR 9ddl ¢ | UhdR R 141 iR JSdi g
3R 15 HieX Fadl § | 39 AR fog U oular foval g 3R g fexn d g 2

.45 Hiex, ufgH
35HeR, gd
.35 1iex, gigH
45 1ex, gd

1) 1
(2) 2
3) 3
(4) 4

N S ST N T

L O R

I

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]
Sl. No.126
QBID:1201026

Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
)1
) 2
3) 3
(4) 4

[afeiRad HY= # S SFIT=IRS db-aly 3 - 3117 g U Y XYZ ¢UURE B hg PRATARA ¢ |
i [l HRUER YRA H 90 WA= k] XYZ ¢ Y ST HA G 2

1. fhagad ear (Raudl W)
2. SfAER QHRIST
3. Wi e gfad

O Yqd (K1) db-ay

11

) 2

(3) 3

(4) 4

B

1[Option ID=501]
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2[Option ID=502]
3[Option ID=503]
4[Option ID=504]

Sl. No.127
QBID:1201027

Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

1. Some women are non-honest human beings.
2. Some honest human beings are women.

3. Some women are honest human beings.

. No women are non-honest human beings.

B

1) 1
2) 2
3) 3
4) 4

FRfcRed & 9 S HuH diidbd ©U 4 34 $UH & 9Aq ¢ - <9 AAN SHFAGR AMd g |

1. 9 Al IR-SAMGR AMI © |
2. P SHMGER A4 AU g |
3. %% AflgAY SAFMGR AMA © |
4. ls Yl AR TR- SHFGR 4Hd gl & |
(1) 1
) 2
3) 3
(4) 4

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]

Sl. No.128
QBID:1201028

Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mamumals are birds.

. No birds are mammals.

1) 1

() 2

(3) 3

4) 4

[FrafcREd # 9 BIa1 DU 38 HUA - “Po all THURI B 1 DT ATl 52

1. % R, 9eft e E |
2. 5D Yall W1 16l § |
3. 50 WHYRL, el g |
4. @1y i velt YR T8l g |
o 2
3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]

Sl. No.129
QBID:1201029
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If the statement - "Some animals are not birds" is given as false, then which of the following statements can be
immediately inferred to be false?

. All animals are birds.

. No animals are birds.

. Some animals are birds.
. Some animals can fly.
11

(2) 2

3) 3

4) 4

A 39 AR - “Ho U Y&l 5l o Pl 3 & & H a1 7 g dl Auieiad # 3 fby o & aR #
dlblield U U 3G g DI A a1 ol Ghdl g 2

1. g1l gy uefi § |
2. g HI I uai gl g |
3. PO U UG |
4.9 UY IS YDA © |
o 2
3) 3
4) 4

S R

I

1[Option ID=513]
2[Option ID=514]
3[Option ID=515]
4[Option ID=516]

Sl. No.130
QBID:1201030

Given below are two statements ;

Statement I : Indian logic treats induction and deduction as separate processes.
Statement IT : Indian logic does not reject the verbalist view of logic.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
(1) 1

() 2

(3) 3

4) 4

BIE KA AIE R [

HYF I : HRATT Th IR HATHA 3R 75 B g Ufch g A ¢ |

HY 11 : HRAT THRIRA, THRR & s BP0 Bl A T8l dRdl g |
SWRIFI HYT & 3Tl H, 414 ST MU [dhedl # 9 968 Iugdd IR D1 99 By :

| HYTI R I agl &
2. FUYAI AR I aHI TTAd 8
3. U1 Y6l g, AT U 1 TTad &
4. HYT 1A ¢, dich U Tel g

1) 1
2) 2
3) 3
(4) 4

B

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]
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Sl. No.131
QBID:1201031

An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

i
[=]

L I S T
—
(3]

(SO )

| S T S T
[

=

1 1
(2) 2
3) 3
4) 4

U YR $O-! @TH & 3ffieRal of Tifd ded & o8 Alegd Ui &1 fidHed TUR Sl 6 |
U A H WIh & g U & USRI & U 10 fde 3R WIh & AH Y9949 & (oW 20 915¢ &1 TN
fpar ST § | < 9d1¢ & AieTsd Uit # fba 1w &, 21fieg iafdp g1 Udhd & -

fri]
=

[ O R
—
(]

[ T S T S T o |

[
[T ]

P

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]

Sl. No.132
QBID:1201032

The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

(11

2) 2

(3) 3

(4) 4

HUCYdD [l =T Al BT dhPRI KIRT U -1 o (e1U UTSd A= UV B Dl ohdl Hgardl 6 -

1. T IR
2. WIfHT
3, QAT
4. THIRRAT

1) 1

2) 2

(3) 3

4) 4

W I =

I

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]

Sl. No.133
QBID:1201033
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3. B and C only
4.A,Band C

1) 1

(2) 2

(3) 3

(4) 4

HDD ! g9 SSD WIRT R+ & & d1H 1 -

A. SSD H gUiF dfchan! (R [$%d) BT YT BIdl & 3R 31 UHR U8 H(UE (A9 g |
B. SSD dgd ¥ gebl BldT ¢ 3R 3YH f[dggd &1 H @I BIAI © |
C. SSD H dgd dofl ¥ & (STe) D1 A BIAT g |

i AU U fdh eyl 1 9 Yl 3R &1 98- HIfoU ;

1. Hdd A 3R B
2. FAA AR C
3. HFIAB 3R C
4. A, B3R C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]

SlI. No.134
QBID:1201034

Match List I with List IT

LIST I (Statement) List IT (Value)
A [Number of bytes formed from 8 bits I |6
B. [Base-10 (denary) value of the binary number - 110 | II. 4
I there are 2F bytes in 1 mega byte, then what 1s L h

£ ithe value of P 7

IAn ISP company advertises its broadband download
speed as 128 mega bits per second. How many 4- ™ o
" Imega byte files can be downloaded per second ’
jusing the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV. C-I, D-1I
2. A-II, B-1, C-IV, D-III
3. A-III, B-1, C-IV, D-II
4. A-IV, B-111, C-I, D-11

(1) 1

2) 2

3) 3

4) 4
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Gl 11 G 1Y M $ifog

S @)
A | s fae 9 fHd a5e & 9= L| 6
| fesmem T 110 BT 99-10 GEIYRD AA | 1L | 4
gﬁlﬁﬂﬁlﬁ?ﬁfaﬁ?%’ﬁf?ﬁﬂﬁﬁ{ﬂ dil i

DS ASUHY] HUHT 20 1G9 H adldl &
th 9@ aisds Seals Wis 128 TEe
D. U UHUS § Al HUT & 81868 Bl T | IV. | 20
i hUs 4 GEISe B Tdha| Bigd
SIETIE B ST B & |

fafafad faee & T Tg) 3R &1 9 BIfo ;

s}

1. A-III B-1V, C-1, D-II
2. A-II, B-1, C-IV, D-III
3. A-III, B-1. C-IV, D-II
4. A-IV, B-1I1, C-II, D-II

(1) 1

2) 2

3) 3

4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]

Sl. No.135
QBID:1201035

Given below are two statements :

Statement I : Entries in blogs are organized from most recent to least recent.

Statement IT : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements. choose the correct answer from the options given below :

1. Both statement I and Statement II are true

Both Statement I and Statement II are false

Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

2) 2

(3) 3

4) 4

B E R ERCTEICEE
U1 : sl H Uiyl BT 91y Hallee qd- U 3{edad 4dIH & hd H [Ha1 Sl ¢ |
HY 11 : Tl I S5 & Pl-aS 3 Tt forait aR Jeemse / dett & a1y gaferd ekt & a8 fge deard

=f

In the light of the above statements, choose the correct answer from the option given below :

2.
3.

1. HUT IR BUT IS I G |

2. FUTI IR FUTII S 3T G |

3. FUTITT ¢ AP HYT I 3 A ¢ |
4. HYTI I APTFUT I IT G |

1) 1
2) 2
3) 3
4) 4

1[Option ID=537]
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2[Option ID=538]
3[Option ID=539]
4[Option ID=540]

Sl. No.136
QBID:1201036

Given below are two statements ;

Statement I : Most of the hazardous landslides are induced by earthquakes.
Statement IT : All landslides involve falling of earth material under shear stress.
In the light of the above statements. choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4

BIE KA AIE AR LN

DY : HYBI GARATD Yo, HebUl T AHURT IS |

HY 11 - GHI YTl H ST &Td b ST Y- BT RRAT 91 Sl g |
SIS HY & 3dld |, - faU MY fdh el # I gt IR &1 997 DI :

1. PYTIAR I 9d &
2. HYFI AR I e A ©
3. HYTI I ¢, AT HYT 1 ATT §
4. YT NI T, AfbT YT I IS
1) 1
2) 2
(3) 3
4) 4

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]

Sl. No.137
QBID:1201037

Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement IT : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4
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A A pyT AU U R :

HYF1 : [dg Hidl B Ue IR-[dg (1 Wige) Hidl ¥ Idd i dlel oid UGyl &1 FRAT @ HeR) T
[RIZ0T BT SUETP A AT G |

HYTIL : TAUGY b TR-eig (1 @ige) Ald YUl FUH b A 3R YX I Jai1H4 gl Jahd ¢ |
JWRIEd HUA & 3Mdie H, A 3T TN fabedl # I el IR &1 994 DI :

1. HYF IR I GH d &

2. FUYAI AR Il 3§

3. U1 9T §, dfhd HUT I 3T &
4. PUTI NI E, AP FUT N TA ©

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]

Sl. No.138
QBID:1201038

Given below are two statements ;

Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement IT : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
11

(2) 2

(3) 3

(4) 4

B CIR A CURI

HUA 1 : 3% TIHEI & &l [A8Rs arT ay 2025 d@, STd-3HIGUwd o2l § 38 Y8 el |

DY : SIS & | S-Sl (b1 3R IqD JUHNT H i, 99 2025 db SN H gi-ard IuaNT
Y 3HfYH A SGEI 6 |

IR DY D 3HcAlD H. i fGU ¢ fahed # T Hal IR D1 98- Hifole :

1. HUF 1R I EH I &

2. FUYAI R I EH 3§

3. FUT1IA g, Afbd HUT 11 3T §
4. FUI 3T §, AP FYT 1 IT §

1) 1
2) 2
3) 3
4) 4

B

1[Option ID=549]
2[Option ID=550]
3[Option ID=551]
4[Option ID=552]

Sl. No.139
QBID:1201039
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Alis true but R is false
4. A is false but R is true
1 1
(2) 2
3) 3
4) 4
i ST PUA TN : U AMVDHUT (Assertion A) & U H [RIT § ol GURT YD BRI (Reason R) & &Y
H:
FUDYT A : FICI Uieidhld U HRA AR =4 S &=11 Bl 37 gRI [bT S a1 gRd 778 (U1 g13%) 79
Ieoi H d¥ 2012 T, 1990 & TR H 5% 11 BHH [bY S o Haie H e a1 ot |
BRI R : HRA 3R = D1 I B qieg UaH oI 141 At Fiifd fay B o gRd 78 719 IAoi H I
ARG ay 1997 H dgd BH (Hgwel) T |
SIS HY & 3clld H, - U MU fdh el & I gl IR D1 997 DI :

AJRREHAITTE IIRR A DI TSI AT &
AR RSFIUT 8, Al R, A Bl T8I AT el o
A9J T AfPAR eI ©
AT G, APIRTA G

= »

(3) 3

(4) 4

|5 T

]

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]

Sl. No.140
QBID:1201040

Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, Band C only
2. B, C and D only
3. A, CandD only
4.C,D and E only

11

) 2

(3) 3

(4) 4
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YA SSl DI I HA 6 -

A R ddl d1fegridy &g
B. ANY® I Sa—

C. 7

D. dl & 3R dTIHT Haurd
E. HeTRII 9ehUl

O

i f3U 71U fadedi & ¥ Uel 3k &1 99+ T

1.Fdd A, B3R C
2. FHdd B, C 3R D
3. FFAA, C3RD
4. $dd C, D 3R E

1 1
(2) 2
3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]

Sl. No.141
QBID:1201041

According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

L I b =

1) 1
(2) 2
3) 3
4) 4

Tt R =it 2020 b SER, FEfRad # U D1H-91 AP Afard WD BRA (TTRETD) I BRI Tel
ghT 2

1. Q&1 UIelifiet H R0 W &3 IR fdaR &1 |
2. Qi1 Mot H difad Ud ST &marst o Fid B |
3. Ssid WRHRI G H QA& 01b Uit S b1 RN B gd 3 ST |
4. Q&ifOr Yrenfie 3§ 2e Ud Fam=R gq A4 FaRil & oaRed &l |
o 2
3) 3
(4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]

SlI. No.142
QBID:1201042
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National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1. B, D and E only
2. A, CandE only
3.B,Cand D only
4. A.B and D only

(11

2) 2

(3) 3

4) 4

PTG B ARl ShHddD (CTTUHEYUD) Ueh &HdT TR hHaD g Sl b, [Hifed fbd TR &1 e &
SR FHT Aarsii &l Gfdd axdl g |

A

B. T
C. DI

D. 3if¥afa

E. 3{H&mdr

i< feu U fasedl H 9 9y Iugdd IR &1 98 HIfolg :

1.$dd B, D, AR E
2. FAA A, C, 3R E
3. $9dB, C, 3IRD
4. Hdd A, B, IR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]

Sl. No.143
QBID:1201043

‘What is the full form of NHERC?

. National Higher Education Review Council
National Higher Education Repository Council

. National Higher Education Regulatory Council
National Higher Education Regulatory Complex

W I =

=

1) 1
2 2
3) 3
(4) 4

UAUES 3R] &1 YU 9 &1 § 2

1. A 8R T b e R w1

2. A=A RR TSR Ruifered drafia
3. AR R TR Wgeied] Hrdfid
4. I BRR TYb M W] Sirela
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=569]
2[Option ID=570]

3[Option ID=571]
4[Option ID=572]

Sl. No.144
QBID:1201044

Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1. 1Svarakrsna
2. Aryabhata
3. Bhaskaracarya
4. Brahma Gupta
)1
(2 2
(3) 3
(4) 4

frafeRad ® 9 forg IR AR (HIeR SfSAH) & 12 HRT BT AMHGRUI [T SR [Sd gR1 H1 71 ged] &1
GRIE 1 T0HT 9 g & e ot 2

1. SHRPW
2. 3Ye

3. YRHRE
4. SERTW

1) 1

) 2

(3) 3

(4) 4

1[Option ID=573]

2[Option ID=574]

3[Option ID=575]
4[Option ID=576]

Sl. No.145
QBID:1201045

Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 7

1. S.H. Wood Committee
2. Hartog Committee
3. Wood-Abbot Committee
4. Sadlar Committee

(1) 1

(2) 2

(3) 3

(4) 4

frfeRad fag afaf &1 TXdfd & MR W S gl TagHRI s (Iels) ®I ay 1935 H G =1,
fepar T 2

1. TY. T, IS 9iAfd (HH)
Qe aiffd
.9s - Udic gfAfd
4. YSeR giAfd
o 2
3) 3
(4) 4

(ST ]

1[Option ID=577]
2[Option ID=578]
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3[Option ID=579]
4[Option ID=580]

Sl. No.146
QBID:1201046

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

4 T3 71U TTei=T 1 iU SR U T ITYdd IR alfold :

gy d e Sfc fas=id - Rd SR & &ide A& B oo dig irel=H1 & fou fq=d g |
Y@ faedR SiNfY, f1en, ol 9 Ao uikded a U1 S & Haa- & UHTal & fagrefadaor 3R dfiie
ST & ATRRUIG A I AR AT AT 3R eI Godl & e, 11 981 4 | 3] TH® T
BR HHEGIGARIET 8 39@] 3D a1l BT YR YK [l 711 § d siHilded =¥ & dau oY - Sia
& [oTie=ite A1erHi & G-I & =0 H SIS 4 | 351 39 (oY fa-ie=iiadr rsg wldariad o |
g J&Ih AN DI & IUUER & &Y T TG & Ir ferd] 1l off | 39 Uled ®¢ YRun ag ot [
(A9 ITC BT IAd RN [areil THIS H 3D W & [d1=1 &1 DR UGl DRl § | 3D] H- ATURUN
Jcre & D Iaare dfd J Geiferd o | 3 =edl & U Sgl [ U g & a1 AIeqifis
JUDHRU G 3R YAIaRUT ] &l UgaIedl | Gl Adleg] H 3ol & lgH & A1 AITHd ATeT BT Fad &RUT
HRY BT | 3HP ATl G 3R R P Fieh0] Y 34 R g 7 S el Hifd & 91y gad gl
| iyl 2rcedl H faRsiepd 3717 & Iuehruil qul Wifibal & HeaNT A GHTS D1 GIEREl ®1 B qui
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
) 2
(3) 3
(4) 4

Ta=INRT - TR =i 9= 3ferd i fadl=-1 o1 ot 2

1. 3Sfe 3R ufdg oY &t § TR-caraanfiad
2. &N & &= ¥ 9gd 3ifee fqRvzidn

3. BRI & WeTHRT & Yiddd UHId

4. 3T WA DI GRT

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=581]
2[Option ID=582]
3[Option ID=583]
4[Option ID=584]

Sl. No.147
QBID:1201047
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< fau 7T TTerizr Bl Uiy SR Uy $1 Iuydd IR GIofy :

TS g Sier fa=ISRId - ST SR & &ffdepR A& BT U1 <fd STeii=1 & fore faward g |
Y@ faedR i, fR1en, ol I A uikded a U1 B & Uaa- & UHTal & farafada o 3R dfie
TS & AIBROITG T T AR AfaaiTd ATE SR oI Toar & e, 1 981 ¥ | 379! 0@ T
BR GRS T 391 3 a1l BT YR YK (a1 7141 g d IAoi-iide =¥ & dau oY - Siad
& farie=iie A1edl & GARHAT & U # SAifeid A | 351+ 39 [ faesiiaar wese uidariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[d9e IcTG BT IAd TRV (bl JHIS H IHD G4 o [d-11=1 T HRb Ual BRI & | 39| J SaURUN
Jare & D Iare dfd I Heferd o4 | 351 Tedl & I gl [ U g & a1e Alifis
JUDHRUT 5 3R UYIGRUT Pl &ffch Ug=Tdl | Gogd! Adlsd] H 391l & ale-1 & Q1Y A SHIUH] D1 Had &R0T
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| sirdl 2rcilsdl # faRsiepd 311 & IuHRUN Ul Wifibal & HgavT A GHTS D1 GAIER=I D1 B qui
gofl |

His critiques were set in the context of:

. Global historicity

. Convivial modes of living
. Self-degradation

. Ethical norms

)1

(2) 2

(3) 3

(4) 4

39! FHTEEAR foog gy 7 off 2

L. S YRSl
2. SitaH B fa1exiia dfcar
3. T9-3{GHHUI
4. 4fd® AFES

(1) 1

(2) 2

(3) 3

(4) 4

W I =

=

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.148
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< feu 7T ez Bl ufeu SR Uy B Iy 3Tk GIofT :

Ui d e 3ier fa=Is=IdT - smeTid SR & affdesR SffHcaror b1 3ol g reil=r & fae faweard g |
Y@ faedR i, e, ol I Ao ukded a U1 ®1d & Haa- & UHTal o fagrmfaaa o 3R dfie
TS & AIBROITG T T AR G AMfd SR Ioifde aaar & e, 1 981 ¥ | 379! 01@ T
HR SHAGAEET 8 3761 3Fd a1 & IR Ud 61 771 § d JeHiad =P & de o - Sl
& fa-ia=iie AregAl & GARHAT & U # WAifed A | 351+ 39 e faTesiiaar wese yiaariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[dge TG BT IAd TRV [l FHIS H IHD G4 o [G-11=1 T HRb Ual BRI & | 3] Jd SaURUN
Jcre & D Iare dfd I Geiferd o4 | 351 =edl & 1Y gl 1 U g & a1e s
JUDHRUT 5 3R UYIGRUT P &ffch Ug=Tedl | Gogd! Adlsd] H Ioll & ale-1 & Q1Y A SHIul D1 Fad &R0
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| siydl 2rcrsdl # faRsiepd 3719 & IRl qul Wificbal & HgavT A GHTS D1 GAIEREI D1 B qui
g |

What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

)1

) 2

3) 3

(4) 4

i = 3t GRad H b epT yaiga fobar o1 2

1. 3RS THNS BT WG-G7
2. faga IcreT Bt 3{fUh GHIGT
3. 39d SIS THIS BT HRTHA
4. fay 7 gt Tuwi &1 3fd

1

) 2

3) 3

4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]

Sl. No.149
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Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision. namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

i< fau 7T TTerizr Bl Uiy SR Uy $1 Iuydd IR GIofy :

TS g Sier fa=ISRId - ST SR & &ffdepR A& BT U1 <fd STeii=1 & fore faward g |
Y@ faedR i, fR1en, ol I A uikded a U1 B & Uaa- & UHTal & farafada o 3R dfie
TS & AIBROITG T T AR AfaaiTd ATE SR oI Toar & e, 1 981 ¥ | 379! 0@ T
BR GRS T 391 3 a1l BT YR YK (a1 7141 g d IAoi-iide =¥ & dau oY - Siad
& farie=iie A1edl & GARHAT & U # SAifeid A | 351+ 39 [ faesiiaar wese uidariad foar |
g Y& AT DIl b IUMER & Y H AT & 1 ferdl 11 o1 | 39 Ui ¢ yRun g 2t fb
[d9e IcTG BT IAd TRV (bl JHIS H IHD G4 o [d-11=1 T HRb Ual BRI & | 39| J SaURUN
Jare & D Iare dfd I Heferd o4 | 351 Tedl & I gl [ U g & a1e Alifis
JUDHRUT 5 3R UYIGRUT Pl &ffch Ug=Tdl | Gogd! Adlsd] H 391l & ale-1 & Q1Y A SHIUH] D1 Had &R0T
SRY BTN | 3T 3fATd] GHY 3R RIM & SiHR01 Y 3 AR Tl a1 1l el shifd & WY wad gofl
| sirdl 2rcilsdl # faRsiepd 311 & IuHRUN Ul Wifibal & HgavT A GHTS D1 GAIER=I D1 B qui
gofl |

The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

1. Aand B only
2. B and C only
3. C and D only
4. A and C only

1) 1

(2) 2

(3) 3

(4) 4
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3enfie wifd & aRoma § 2

A. TOIaR0] B G

B. 3uif &I ufdsfed SuanT

C. 9HY 3R ¥ @i favg

D. 18T DT YATH ITGNT

43U U fad eyl © 9 Tgl 3R &1 999 HIfT ;

1. Hdd A3MRB
2. FAAB IR C
3. %Had C3RD
4. Had A SR C

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=593]
2[Option ID=594]

3[Option ID=595]
4[Option ID=596]

Sl. No.150
QBID:1201050

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space. that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

il 7T TTU TTeIi=1 Bl ufgu 3R U DT IuGad IR alforg ;

gfaf¥d dae sferd fagivgrd - enemRd SRl & &fam ifiyaeo &1 2o dig e & fau fa=a g |
SHT AR e, fran, ol ¥ dax gikag db U7l &1 & Yaa- & YHTa] ol [o=faddor 3R dfile
O & B AGTA § AR Afadard e SR IsHifas gadr & g W 9el 4 | 39@) §1d 7
BR BRI H 3! D a3l BT YR YKd (g1 771 § d Ael-iided =¥ & daH ol - S
& faTie=ited H1erHi & G0 & =0 § Saifsrd o | 3l 39 oy fa-iesiiadr 2rss ufdurfed foar |
g Y SN DId & IUMER & Y H THAT & A1 ferd] 1l T | 39 Uies w6 yRun ag &t fds
fqge ST 1 IAd <RI fob il THIS H 3D W & [d1=1 &1 SR U1 Bl § | I7D1 B HIYRUN
I & D Iare Al 9 HalErd o | 3514 Tedl & 91 &gl [ U dg & qre s
JUDBRUN S 3R TGIGRUT b1 &I =T | GoAgdi Adlsal H 3ol & Glg & A1 HiTAd AT BT Fad &R0T
TR BTN | 3Y& (Al G 3R R & diethRul Y 38 AR 9d a1 Sl Sieiifiies wifd & iy uad gafl
| Sl 2rered] H =i M & IUDRUN auT UIeHFifdal & GgarT o IS &1 GIER= BT B gul
gafl |

The inference from the passage is that:

1. Specialized expertise is absolutely essential.
2. An industrial society is a welfare society.
3. Conviviality should have its own limits.
4. Industrialization is highly beneficial.
1) 1
2) 2
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3) 3
(4) 4

1. fafery foxigar Fdid emewu® § |

2. 3ENfTS TN U9 HdUbRI AN § |
3. faiexiiaar T st JrAme gt anfgu |
4. 3TN 3dd ATHPRI ¢ |

11

) 2

3) 3

(4) 4

1[Option ID=597]
2[Option ID=598]
3[Option ID=599]
4[Option ID=600]
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